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1. Public Holidays are declared under ............ :

(1) Criminal Procedure Code (2) Civil Procedure Code
(3) Negotiable Instrument Act (4) Constitution of India
st FATHIT ..onnen.. & AT HINd fRar siar 2|
(1) eaxiiyres wfehar dfear (2) Tofaer aftear dfear
(3) TR foad sfRfas (4) AT H GiqaH

2. Which of these systems is followed in India ?
(1) Adversarial System (2) Judicial System
(3) Inquisitorial System (4) None of the above
qRd 7 378 | 59 goneht &1 9 fRar ST @ ?
(1) wfeegpet ot (2) =i JoTed
(3) Rysg Tt (4) IR F q I3 T

3. What is lis pendens ?
(1) A pending suit
(2) A pending list of suspects
(3) A pending show cause notice
(4) A pending summon
forq 98q &1 © ?
(1) us fea gehadr
(2) |t # o e g
(3) T «fd HRET I Aifeq
(4) T e q=q
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4. Who is the Legal Advisor to the government of a State in India ?

(1) The Solicitor General (2) The State Chief Legal Officer
(3) The High Court (4) The Advocate General
AR H fHHl TF B TIHR H HALN FABHR B el & 7
(1) Hiffey s (2) T qEF FHrgl HAB
3) 8= AT (4) HerfeeerT

5. Which of the following is the oldest High Court of India ?
(1) High Court of Madras (2) High Court of Calcutta
(3) High Court of Delhi (4) High Court of Allahabad
Frfafad & | #9 9RT &1 998 g1 = e € 7
(1) 919 &l 3= I (2) haThdl bl I=d FEITH
3) Reell &1 I= A" (4) 3G Sl I=A AT

6. Which of the following is entrusted with a duty of laying down the standards of
Professional conduct and etiquette ?

(1) Supreme Court of India (2) Bar Association of india
(3) Bar Council of India (4) Delhi Bar Council

frafefag § @ BFQ aaEf@e oerer R firemr & Aq s & HgiiRa
HA Bl Haed QAT T B 7

(1) 9T I Gared I (2) IR TaIfqusE 36 3osar
(3) SX FEfaa HATE gfosar (4) Rl I HRErAA
7. 'A'sells his car to 'B' his childhood friend with the knowledge that the car is defective.

Before buying the car 'B' says to 'A' that "if you do not deny it I shall assume that the
car is perfect.” 'A'says nothing. In the light of statement decide the liability of 'A'.

(1) 'A's silence is equivalent to speech and hence a misrepresentation.

(2) 'A' is-not liable for fraud but liable for misrepresentation.

(3) 'A'is liable for fraud and misrepresentation both.

(4) 'A's silence is equivalent to speech and hence a fraud.
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A' ST R ST9T SO B AT B! H 39 59 B 1Y a=al § B FR EH

%lwaﬂa%%qz%'B','A'am%ﬁs“uﬁmw@ma@mﬁ%

3 & 7 T B BR wHEH @E B A B AL dear &1 HYT B D A

'A' T A T B

(1) 'A'# gt e & SeE} ¥ X 3ERie O e ST B

2) 'A' TS B BT SRar € & afe Fremfreer A & g e
gl

(3) 'A' aETEEl R Hemfreger A $ e SURERT 2

(4) 'A'F guit ANOT B YR 2 AR 3T grErHs 2|

8. Fundamental Rights are given in :

(1) Part-I of Constitution (2) Part-III of the Constitution
(3) Part-1V of the Constitution (4) None of the above

A R e fRe @ 8 ?

(1) dfge= & eI+ (2) Gfga™ & AR &

(3) dfag™ & ArT-IV H (4) STA® F q Pl TEd

9. 'A'and 'B' Husband and Wife both are the employees of the same institution. 'A' female
employee files complaint against 'A' for sexual harassment at work place before an
internal complaints committee which is headed by 'B'. After the proceedings are
complete 'B' held 'A' guilty recommended disciplinary action against 'A’. 'A' can
challenge the proceedings on what grounds ?

(1) 'B' is employee of the same institution and the inquiry should have been conducted

by person outside the institution.

(2) The complaint was filed by female employee so the inquery should be done by

male employee.

(3) 'B' holds a personal bias against 'A' so the inquiry should not have been conducted

by her.

(4) 'A’ being the accused should have conducted the inquiry himself.
BLBHJ-EE-2022/(SET-X)/(A) P.T. O.
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A R B aRY ST uel AT o & e B e ¥ b Ae FE O
iR Riead affy 3 o9e SR X A9 Sded @ e A’ S s
R @t B 2, Rrad ot B! @ otegerr § A ¥ 1 HEEE T R
3 A% B XA B AN sEwE oK A’ B Rawh SEAEAH FIAR B
R &l Al AT B e STTER 9X gAKN 2 Fehdl © 7

(1)'B'G'&ﬁwmamaﬁam%aﬁrﬁaﬁwﬁam%aﬁﬂmaﬁwﬁ
ey oY |

(2) Rera afsen S &) o @ T o gaRl S gey AT &) Al
Sl ey |

(3)'B','A‘%ma¢ha7mgamr@m%,sﬂmaﬂ%mﬁﬂﬁaﬁ
ST e off |

(4) 'A'S AW BN B HR @I g HET AN ¥ |

10. 'A’ delivers Pizza at 'B's house by mistake. 'B' consumed without asking anything. Now :
(1) B'is bound to pay 'A' for Pizza.
(2) 'B' is only made liable if an express contract is established between 'A" and ‘B'.
(3) 'B' is not bound to pay 'A' for Pizza.
(4) It is the discretion of 'B' to make payment to 'A'.
'A' TR & 'B'@ ®X fsor el &Y 2aT B 'B'H e v 9 @ forar ) o
(1) 'B' fase & g 'A' &l FAH FH & [0 G B
(2) 'B' Ba ¥l Ia<erEl S & 59 'A' 3l B’ 9 U qHEd Sy wid
BT 2 |
(3) 'B' e & W A& A A B g st 126 8
(4) 'A' T ST BT 'B' 1 fAABIIBT B |
11. 'A’ invited 'B' to his house. 'B' after sitting in the Drawing Room moved to the
Bedroom where 'A’ was preparing coffee for him. 'A' sued be for trespass :

(1) 'B' has interfered with privacy of 'A".

(2) 'B' has committed no offence as he entered in the house with 'A's consent.

(3) 'B' has offended 'A' moving to the bedroom.

(4) 'B' has committed trespass as there was no consent of ‘A’ entry in the bedroom.

BLBHJ-EE-2022/(SET-X)/(A)
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A' X B Y SO HX SHET fRar| B ST &9 F Yo4 & 9% 39 9889 H

e AT ST ‘A’ IES R @i &9 e o7 e 3 g geedr fhear S

gopall ©

(1) 'B'T 'A' I Mugar ¥ sw@g fhar 2 |

2) 'B' A P13 9 & fpar § i 3@ 'A' @ Henfa @ =Y H gaer far
or |

(3) B'Y 'A'F FsEH ¥ I @ TS FH AT B

(4) 'B'9 A= fban @ =ifp Ss&q § AP WAy & dis dedfd Tel &l |

Who drafted the Indian Constitution ?

(1) Drafting Committee (2) Constituent Assembly
(3) Indian Kings (4) Constitution Committee
ARG GiqaE H1 "aRT fFaa dar) e o ?

(1) 7@ afafy (2) |fge= g

(3) s =T (4) dfaer afafa

. 'A'shot 'B' in front of 'C' and pleads 'C' to take 'B' to the hospital. 'C' refused and said I
want that 'B' should die and you are punished for 'B's death. What offence did 'C' do ?

(1) Murder (2) Negligence

(3) None ' (4) Attempt to murder

'A' X B #H 'C' B gHA Ml A & X 'C' ¥ 'B' d A o 9 @ g
fomelt @11 'C' F HT Y Rar o) #er % H aear g 5 B AT Sw &)
SR 'B' & AT Bl Gorr & S| 'C' A r 9y far ?

(1) &er (2) SIETE!

(3) ®13 TE (4) &A1 H HITH

'A' made a proposal to 'B' to sell a chair of Rs. 500/-. 'B' expresses his desire to buy the
said chair for Rs. 400/-

(1) Itis not clear whether 'A' made a proposal to 'B'.

(2) 'B' has accepted the proposal of 'A’,

(3) 'B' has not accepted the proposal of 'A’.

(4) Ttis not clear that whether 'B' has accepted the proposal of 'A' or not.

BLBHJ-EE-2022/(SET-X)/(A)
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'A'%'B'a%qasag{ﬂsow-a@ﬁaaﬁamw%m'ﬂ%magfﬁﬁ
400/- 9 F @G FH TV AR Hl |
(1) gg @< & & 5 'A' 3 'B' & ww@ A ® ar T@i |
2) B' ¥ 'A' B TG B WHR BT AT 2 |
(3) 'B' 7 'A' B U@ P WHK et fFHAT 2|
(4) 78 @< 7E ¢ B B'Y A' § s B Wi fhar & 4 7o |

15. During the marriage ceremony of 'A’ and 'B', 'C' circulated a pamphlet saying that 'D'
sister of 'B', the bride is a thief, she has stolen the shoes in a mall.
(1) 'C' has defamed the bridegroom.
(2) 'C' has defamed the bride.
(3) 'C' has defamed 'D'.
(4) 'C' has not defamed 'D' and he never intended it.
A R B' B Rae @Hle & ARM, 'C ¥ wh Sae siRa fhar fred Fel
T o 5 B! @1 9 D), gre 9K B, I@W U A § i g T
(1) 'C'Y T® & FqA™ R 2|
(2) 'C'H T B F&A™ fHar B
(3) 'C'Y 'D' & SgAH AT B
4) 'C'%'D'a%aaﬂmﬂﬁfﬁm%ﬁwﬁm'mmﬂﬁm%l

16. 'A’' confined her daughter 'B' in a room. 'A' also did not provide any food to her
daughter 'B'. 'B' died of starvation :
(1) 'A' committed the offence of confining 'B'.
(2) 'A' committed the offence of causing death of 'B".
(3) 'A' committed no offence.
(4) 'A' committed the offence of not providing food to 'B".
A' X ST AT B! T U HAX 7 a8 &} fRArl 'A' F S 98 B @l HiE
e off 71 Rar| ‘B! W@ € H W
(1) 'A' ¥ 'B' & difaa Ha &1 9 f6an |
2) 'A' X 'B' S gg HiXd B H AU BT B
(3) 'A' 7 F% YUY &l fRAT |
(4) 'A' I 'B'&H A SqA=T FE HIA B ST fHaAT |
BLBHJ-EE-2022/(SET-X)/(A)




A

17.

18.

19.

'A' takes up a gun not knowing whether it is loaded or not, points it playfully at 'B' and
pulls the trigger. Consequently 'B' falls dead :

(1) 'B' death is not accidental, as there was want of proper care and caution on the part
of 'A'.

(2) 'B's death is accidental as 'A' was just pointing the gun playfully at '‘B".

(3) 'B's death is accidental as 'A" had no intention to kill 'B'.

(4) 'B's death is accidental as 'A' did not have the knowledge that the gun is loaded.

'‘A' Sg% IS B, g8 e ST 6 g8 W g3 ® a1 A€, 38 B! 9X 3R BT

R Y fo ierar R | it ‘B! AR S @

(1)'B'q%3@aﬂzﬁmﬂﬁ%,aﬁﬁ5'A'a%aﬂT@r3%m%@Weﬁrmﬁ
& HH AT |

(2) 'B'& A oS & it 'A' Ryw B! 9 dgeh @bl ST I HT @ AT

(3) 'B' ! §og STeHRHAG & Fifh 'A' BT 'B' Y WA I HIF FAGT ALl AT |

(4) 'B'# gog TepREh ¥ e AR g8 o e of b sgsh wl g% B

Alibi means a plea by an accused person that he :

(1) was facing trial. (2) was present elsewhere.

(3) underwent preventive detention. (4) remained in judicial custody.

S7cfist 1 o1 8 fRdl ST aAfdR ERT & T8 &l fh g
(1) gheH &1 AT HT TET oA | (2) el R A& o |

(3) frares MOy fear T3 (4) =¥ fBuEa # W@

Under the Constitution of India restriction on freedom of religion can noft be placed on
the ground of :

(1) Public Order (2) Social Justice

(3) Morality (4) Health

I & GfAYE & ded g9 & Waadr 93 ufoey fras oy X 7&@F I mET
ST gl & 7

(1) gt e (2) g =
(3) =feramar (4) ‘e

BLBHJ-EE-2022/(SET-X)/(A) PJT 0.



20.

21.

22,

23.

Which one of the following is not a directive principle of State Policy under Part-IV of
the Constitution of India ?

(1) Promotion of Adult Education
(2) Promotion of International Peace and Security
(3) Organization of Village Panchayats

(4) Provision of just and human conditions of work and maternity relief

frafifad & @ o9 9Ra 3 dRge & 9FLIV 3 ded Iod A & FRes

Ryeia 782 ?

(1) M Rrem H sgrar 2

(2) Siasa erifer o GRew @ gEr 3

(3) AM YHEC & EHITeH

(4) BH H EHETT AR AFGE Raferdt X AgE qed B AGEH

The Fractions 7/11, 16/20 and 21/22 when arranged in descending order are :
A A H Faftaa 81 WX B 7/11, 16/20 7% 21/22 )41 2RA ?
(1) 7/11, 16/20, 21/22 (2) 21/22,7/11, 16/20
(3) 21/22, 16/20, 7/11 (4) 7/11,21/22, 16/20

In the series'2, 5, 13402 , 47. Fill up the gap with the appropriate number.
JEAr2, 5, 11, ..., 47" Iugewd g 4 Raaq @& & gfied S
(1) 12 (2) 10 (3) 23 4) 24

Fill up the blanks with appropriate number :
e &= @1 gfcd Sfea dear | @i ¢

5 30 120
7 56 336
0 %, Q07 ¥ AT g
(1) 841 (2) 720 (3) 752 (4) 728

BLBHJ-EE-2022/(SET-X)/(A)
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25.

26.

27.

28.

12 : 20 :: 30 : 2 — Choose the correct alternative for the place of question mark (?) :
12:20:30:2-939 Red ()@ wW 3 g st fFeeg & =37 & ¢

(1) 40 (2) 42 (3) 50 (4) 44

F : 37 :: 1: 2 — Choose the correct alternative for the place of question mark (?) :
F:37:1:2-999 e ()& @ & foa Ifd faeea &1 =34 &<
(1) 52 (2)%27 (315 (4) 82

3:243 :: 5:? — Choose the correct alternative for the place of question mark (?) :

3:243::5:? —usH R ()3 wW 3w sfa fFEwea & =37 #]
(1) 575 (2) 425 (3) 3125 (4) 355

If LODES is coded as 46321, how will you code the word DOES ?

afx LODES &t 46321 & &9 ¥ e fpar siar 8, o o9 DOES 9= &I Hd
HS HAl ?

(1) 1234 (2) 4321 (3) 3621 (4) 4321

Ram facing is South. He turns right and walks 40 meters. Then he turns right again and
walks 20 meters. Then he turns left and walks 20 meters and then turns right to walk 40
meters. Then he turns right again and walks 120 meters. In which direction he is from
the starting point ?

(1) North-East (2) North-West
(3) North (4) West

TqH B @ IEOT FH SR B T8 TF JIAT @ 3R 40 HieX AT 2| O T
fhe & & ggar ® ofix 20 Hiex =war 21 X a8 & gsar  ofX 20 #Hiex
Torar & 3T fpY ad ggahy 40 Hiex Iwar 21 a9 g8 e @ & g3ar @ oI}
120 HieX IaraT 2| 19 98 IR &g 4 g Rew & 2 ?

(1) IT-gd (2) IR-uf¥=H
(3) I (4) qf=d

BLBHJ-EE-2022/(SET-X)/(A) RAT20.
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29.

30.

31.

32.

33.

A

Rohan walks a distance of 3 km towards North, then turns to his left and walks for
2 km. He again turns left and walks for 3 km. At this point, he turns t0 his left ang
walks for 3 km. How many kilometres is he from the starting point ?

(1) 1km (2) 2 km (3) 3 km (4) 5km

A& I B AR 3 Pl e 8, Rbe orod and ggar & T 2 Rl =@ &
a8 60 & O gear ¥ ok 3 Rl dwar ¥ g@ fg 9T 98 OO AR SR
T ¥ o3 Bl T ¥ aw iR fig @ Rea el 9T R 2

(1) 1 e (2) 2 fpit 3) 3 fh (4) 5 ft
Which one among the following does not belong to the group ?

(1) Maestro (2) Visa (3) Master (4) Credit Card
Fr=ifafad & & &9 998 § d@aifta 727 8 7

(1) ACET (2) & (3) ATE=X (4) BT BE

A, B, C, D and E are five rivers. A is shorter than B but longer than E. C is

the longest and D is a little shorter than B and a little longer than A. Which is the
shortest river ?

A, B, C,D IXE G fkdi E1A, B @ 819 © afsT EQ @t 21C 9 ot B
AR D,BY A 81 T ok A QY A @t B gEQ B TG B9 B ?

(1) B 2) C 3)D 4) E
Which word does not belong with the others ?

(1) index (2) glossary (3) chapter (4) book
PE-AT T gE A Gefad 787§ ?

(1) g=hih (2) ST 3) =A™ (4) fra=

If F is the brother of A, C is the daughter of A, K is the sister of F and G is the brother
of C, then who is the uncle of G ?

(1)iE (2) K 3) C (4) None of the above

gRF, A% 9 8, C, A TN &, K, FH ‘AT MM G CH IE 2, A GH
e i § 7

() F 2) K @3) C 4) 3% q @3 N T

BLBHJ-EE-2022/(SET-X)/(A)
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A has three children. B is the brother of C. and C is the sister of D, E who is the wife of

A and is the mother of D. There is only one daughter of the husband of E. What is the
relation between D and B ? i

(1) B is the brother of D (2) B is not related to D
(3) Dis asister of B (4) None of the above

A%:cﬁaaé:%nB,canqrg%eﬁtc,Da%asw%,EshAaaqaﬂ%eﬂwD
aﬁmﬁlE%Qﬁaﬁmmaﬁ%lDaﬂTB%&ﬁawm%?

(1) B,D& %1% 2 (2) B,D & wafe =8t
(3) D,B& 789 2 (4) I9UFT & F F3 T8
A person crosses a 1200 meter long street in 10 minutes. What is the speed in
kilo metre per hour (km/h) 2
(1) 7.2 km/h (2) 8 km/h
(4) None of the above

(1) 7.2 fEpeiter ufq et
(3) 9 fpedeT ufy ey (4) IqAFT T A FE T8

A train whose length is 320 meters is running at a speed of 36 km/h. How much time
will it take to pass a pole ?
(1) 30 Second (2) 32 Second (3) 36 Second (4) 40 Second

uFh g foreae sfard 320 dex ® qw 36 @ ofa 92 A e @ A o B
U 9 H 9T HA A e gug @i ?
(1) 30 v (2) 32 @FvE (3) 36 @Fvs (4) 40 Azvs

. The Year next to 1991 will have the same Calendar as that of the Year 1991
a9 1991 & &g frd ad & 1991 & @99 $avet anm 7
(1) 1992 (2) 1995 (3) 1996 (4) 1997
If 22 April, 2013 was Monday, then what was the day of the week on 22nd April,
2012 ?
(1) Sunday (2) Saturday (3) Tuesday (4) Wednesday
BLBHJ-EE-2022/(SET-X)/(A)
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afE 22 oW, 2013 H EFER o, ar 22 9, 2012 @ e H BT
g7 ?

(1) FEr (2) sfamr (3) HTRTER (4) gAY

39. How many numbers are there between 1 and 100 that are nof divisible by 3and 5?
131003 & T e demt & o 335 fawa 7@ € 7
(1) 47 (2) 43 3) 53 (4) 58

40. In a group of 40 people, 25 speak English and 20 speak both Hindi and English. All the
people speak at least one of the two languages. How many people speak Hindi ?

40%%@1@%253@@%%@?20%&1@?%%%&%@
AT A wie ¥ ¥ HH Y HH OH A Sy 1 B e B e € 7

(1) 15 (2) 20 (3) 25 4) 30
Instruction : Read the following passage carefully and answer the question Nos. 41 t0 45 :

The Golden Temple stands in the City of Amritsar. It is most sacred to the Sikhs. It stands in
the heart of the city. In fact, the city grew up around the temple.

The temple stands in the centre of a big tank which is always full to the brim with clear water.
The tank was excavated by Guru Ram Dasji in the year 1589. On all the four sides of the tank
runs a broad path paved with beautiful marble tiles. A marble causeway leads to the temple
proper. The walls of the temple are also made of marble. There are beautiful floral decorations
on the walls. These are inlaid with precious stones. The temple has a gilded dome. It has four
doors instead of one. The temple is open to all castes and creeds. The reflection of the temple

in the clear water of the tank is a sight to see.
41. Guru Ram Dasji excavated the tank ...........
(1) which leads to the temple of Amritsar.
(2) which lies near the Golden Temple.

(3) at the centre of which stands the Golden Temple.

(4) which contains little water.

BLBHJ-EE-2022/(SET-X)/(A)
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43.

44.

45.

46.

47.

48.

49,

50.

13

What does the passage describe ?
(1) The tank around the Sikh Temple. (2) The religion of the Sikhs.
(3) The walls of the Golden Temple.  (4) The famous Golden Temple of the Sikhs.

The temple is open to
(1) everyone (2) only the Sikh men.
(3) only the Sikhs and Hindus. (4) only the Hindus.

The tank was excavated by Guru Ram Dasji. Here 'excavated' means ..........
(1) inaugurated (2) made up
(3) first used (4) dugup

The broad path round the tank ..........
(1) is made of marble. (2) is paved with marble tiles.

(3) is inlaid with precious stones. (4) consists of floral designs.

'Unequivocal' means ..........

(1) having only one vocal cord.

(2) having two neatly balanced meanings.
(3) having only one possible meaning.

(4) having only moral applications

Which of the following is opposite of 'confident' ?

(1) Assertive (2) Upbeat (3) Diffident (4) Sanguine
Which of the following is nearest in meaning to 'amazement' ?

(1) Composure (2) Stupefaction (3) Indifference (4) Disdain
Which of the following is incorrectly spelt ?

(1) Misspelt (2) Wierd (3) Narcissistic (4) Accessory

Which of the following is correctly spelt ?
(1) Brocolli (2) Vaccum (3) Ocassion (4) Entrepreneur

BLBHJ-EE-2022/(SET-X)/(A) PETEO)




14

51.

52.

53.

54.

55.

56.

Which of the fallowing sentences is grammatically correct ?
(1) This book gives much valuable information.

(2) Applauses were heard from the hall.

(3) We are dealing in potteries, crockeries and cutleries.

(4) We have purchased new machineries for the factory.

Which of the following sentences is grammatically correct ?
(1) Many a passengers has lost his luggage.

(2) He is foremost lawyer in the city.

(3) Raman is taller than any student in the class.

(4) Temples are seen on either side of the river.

Which of the following sentences is grammatically incorrect ?

(1) As soon as the train arrived than the passengers rushed into it.

(2) It was nice of you to come and see me when I was ill.

(3) They told me they were sorry on the situation, but there was nothing they could do.
(4) They were delighted with the present I gave them.

Which of the following sentences is grammatically correct ?
(1) The traffic police said me I couldn't park my two-wheeler there.
(2) He said that he was sure that justice would be done.

(3) They wanted to know what was my name ?

(4) He told me to come back tomorrow.

If she had studied Mandarin, she ........... to China.

(1) will be able to go (2) would go

(3) can go (4) would have gone

If wishes ........ horses, beggars would ride.

(1) were (2) are (3) may be (4) can be

BLBHJ-EE-2022/(SET-X)/(A)
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57. She had sprained j
o Sranklemee.. o she managed to participate in the dance
(1) Along with that
: (2) In addition to that
(3) In spite of that
(4) Also
58. Iwillcallyou . .
1) Whenev
(3) L er [ have the results (2) Wherever I have the results
d
3) ad the results (4) If T had got the results
59. The idiom, "To pay through the nose" means -
(1) To pay an amount exact and correct to 2 pie
(2) To pay more than the fair price
(3) To pay back the loan
(4) To pay in kind
60. The idiom, "On the rocks" means -
(1) In trouble (2) To do things in the wrong order
(3) To settle down in a rocky area (4) To be defeated
61. g9 sHhIF-AT 9= B ?
(1) a3 (2) aH (3) g1 (4) forsh
62. T, TQ, o, 3 -4 @I & ?
(1) & w3 (2) ga @ () @gad WX  (4) IH | IS TEl
63. fe=<t wmr frg fofy & foredy o & 2
(1) s (2) sl (3) TEgE (4) FFrTd
64. 379 U FEad IYfs fha = 7 B ?
(1) SHITHER (2) &= (3) & (4) TR
65. 3 @ HA-AT LS T&T & ¢
(1) o7& (2) SAFTHL (3) arefi (4) Isga
BLBHJ-EE-2022/(SET-X)/(A) P.T.O.




D Egm Eard - e B g e
(1) e ok ) T BT
(3) (1) 3R (2) AT (4) 3T q g T
. ‘STET @Flt 1 e 8 SQ T Hed & 7
(1) &m™ (2) | (3) @A (4) 938

. ‘@M HAAT FEER FH I T
(1) g a7 Qs (2) 9&A =h Bl
(3) O=-far & gz

. ‘QT HT Y IR B AT FHT A B
(1) €& el
(3) (1) 3R (2) At
. ITTHT @ fAgdardE 9= ® ¢
(1) FRY (2) STHTHT
. = B ufes wEre E
(1) sl wa fZad
(3) STEE (4) gerdETd
. ey Raw’ HT AT SR § 7
(1) 11 @ & (2) 14 Radex @ (3) 28 FadeR @ (4) 125l H
Ry P E@R R 7
(1) == &Y (2) @Y g™
(3) faaat (4) 38 | HF TE
. Prer & E@f-ReRs ®
(1) fra +aemem (2) e +amamr () B¢ +emam (4) [+ emEm
: gaﬁ@tﬁmsmﬁ‘szs’waa‘f%?
(1) 3faw (2) |HISTD (3) AfH® (4) ufers
76. ‘TEreT ¥ P-4 GHE § 7
(1) TGS (2) && (3) f&g (4) S
BLBHJ-EE-2022/(SET-X)/(A)




77.

78.

79.

80.

81.

82.

83.

84.

Hid B ST &

(1) = (2) sy (3) Farrh (4) e
A B R s 2

(1) ST (2) STrprgy (3) em=% (4) T
S H A Al ST gy Fey ¥

(1) Ste=w (2) @ (3) F=aEA (4) A
‘mqﬁ%’“ﬁf%ﬁﬁwﬁwqﬁmﬁr HH-T qH © 7
(1) 93 gy (2) g AT

(3) Ml arry 4) 399 @ P TE

The word 'Veda' means :

(1) God (2) Soul (3) Truth (4) Knowledge
AE AIT FH ot B

(1) 3w (2) T 3) &= (4) ;T

The first General Elections were held in India, in :

(1) 1948 AD. (2) 1950 AD. (3) 1952 A.D. (4) 1955 AD.
ARG H U8 T gHE g Y

(1) 194850 & (2) 195080 & * (3) 195280 H  (4) 195530 &
Saka Era begins in the year .............. ;

(1) 320 A.D. (2) 178 AD. (3) S8 A.D. (4) 78 AD.

T T P& B 8, T ..o |

(1) 32080 H (2) 17830 # (3) 5830 H (4) 78 3o H
The founder of 'Nath Panth' in Haryana was :

(1) Garib Das (2) Chaurangi Nath (3) Veer Bhan (4) Nishchal Das
shamen ¥ Ay dY’ & Heus ¥

)| Q) AChT I (3) I 9 (4) Fgeret a|

BLBHJ-EE-2022/(SET-X)/(A)
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85.

87.

89.

The 'Doctrine of Lapse' was associated with °

(1) Education (2) Social Reforms

(3) Princely States
‘T B R afag e
(1) f{em |

(4) Political Reforms

(2) @R gt |

(3) 3N Rarear & (4) TeHfoes gamt |

The 'World Population Day" is celebrated on ........... :

(1) 11th July (2) 21st July (3) 11th June (4) 21st June:
‘Tasa seen Raq’ g9mr siar ©
D UFTE R @ 2q@E R @) 1 5@ @ (@) 2157 A

'World Day of Social Justice' is celebrated on

(1) 17th February (2) 20th February
(3) 21st February (4) 28th February
‘Tagg g = Raw’ g9 ST & ...l |

1) 17 H@d H (2) 20 HEY H
(3) 21 HEQ A (4) 28 HE@Q H

The Thar Desert continues into Pakistan and called as

--------------

(1) Pak Desert (2) Sahara Desert

(3) Gobi Desert (4) Cholistan Desert
IR W, TfeeE T fowga @ e

(1) 9k AT FBd B (2) T IWEE Fea &

(3) et IR FES & (4) AeiEm P wea &
Which river of India is called 'Vridha Ganga' ?

(1) Krishna (2) Godavari (3) Kaveri (4) Narmada
R & fFE T8 B ‘G T HET AT 8?7

(1) F=m (2) MerEd (3) P (4) ==y

BLBHJ-EE-2022/(SET-X)/(A)



90.

91.

92.

93.

94.

BLBHJ—EE-2022/(SET-X)/(A)

(1) reverse OSmosis

: (2) diffusion
(3) centnfugalion )

(4) dialysis

(1) T8 wRrey (2) sEoT
() ATy | (4) sHfafag
Th i :

© speed of light wi]j e minimum while passing through :
(1) Water

(2) Vacuum (3) Air (4) Glass
WQT@%WW%W%{@W%:
S RN S o i

Which is best soung absorbing material in partition walls ?
(1) Stone chips (2) Steel

(4) Glass pieces
ﬁaﬁ%%mﬁﬁaﬁaﬁsﬁwmﬁm@%?
(1) €19 g () sErq

G) ®r= FH = 4) B F TH

3) Glass-woo]

The first effective vaccine against Polio was prepared by :

(1) Robert Edwards (2) James Simpson

(3) H. Gibbon (4) Jonas E. Salk
W%@mm%%ﬁm%m%mrﬁmwm?
(1) T« usady _ (2) S fygas

(3) THo Rre= (4) ST9TE $o |

Air Conditioner was discovered by :

(1) Edison (2) Wilson (3) Carrier (4) Roentgen
TR FAIT H G B EW R T ey ?

(1) TEra= (2) fawes (3) HRET (4) JF=oT

19
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95.

96.

97.

100.

The Pavo Cristatus is the zoological name of

(1) Swan (2) Lion (3) Peacock = (4) Cow
gl freed Sta-3snfie A R
(1) & = (2) I & 3) 9% & (4) T FH

When did the National Informatics Centre (NIC) was established ?
TS G B s (Tomse) & wmoem 5 4 7 o ?
(1) 1972 ) 1976 3) 1978 (4) 1980

Which of the following is not a part of India's National Debt ?

(1) Provident Fund (2) Life Insurance Policies

(4) Long Term Govt. Bonds
M 8 | B 9Ra B TS For o e 7@ S 2

DR T @) s i AR

&) RIS o3 (4) drdpreiE G g

(3) National Saving Certificates

The largest soil group of India is :
(1) Red Soil

(3) Sandy Soil

AT HT qI9 37 JaT THE © ¢
(1) s fredy

(2) Black Soil
(4) Mountain Soil

2) R Fred

(3) el fred 4) T e

Environment Protection Act was enacted in the yeanise S 3

(1) 1986 (2) 1989 (3) 1992 4) 1972
T ERET Afafm et R wr o g L |
(1) 1986 & (2) 1989 # (3) 1992 # 4) 19727
How many Wimbledon titles won by Novak Djokovic ?

A SefeE ¥ fha RradeT Tmee oy 2

(1) 8 )5 (3) 7 4) 6

BLBHJ-EE-2022/(SET-X)/(A)
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1. g7 HF-97 9% ¥ ?
(1) deva (2) T (3) et (4) ferst

2 QU o, N pa-q @T & ?
(1) & =X ) & wx Q) @ @ (4) T @ B T

3. &= st fopg foify & Ryl st &

(1) ErTh (2) smEh 3) TEgE (4) FFATTd
4, T O T Aghs e = H 8 7

(1) STIEHR (2) &= (3) THES (4) TR
5. 398 9 Hi-91 AYE 78T & 7

(1) 3139 (2) ST (3) ST (4) 39
6. ‘9TH QT & — & HA-ar e 8 7

(1) |pHs fomar (2) 3THHE fopaT

3) (1) 3R (2) T (4) 9% q g 7
7. ‘STEf @t @1 e &Y SS9 T ded © 7

(1) 9™ (2) |41 (3) IR (4) 99
8. ‘P HATT HeER H L T ¢

(1) 5gd st Qe (2) g T BT

(3) a=-fea d s (4) 98 AR HIAT
9. ‘g @I gY U H U H I B ¢

(1) g&r faolg (2) FHIEYeT A=

3) (1) X (2) &t (4) 377 | i3 &
10. “STTcHT’ B fAgdarEE 9= © - '

(1) AR (2) SAATAT (3) 9XHTEHAT 4) 9
1. <0 & 9fgs FerBR € -

(1) & y9E f&a 2) IE=<

(3) STraEt (4) g™

BLBHJ-EE-2022/(SET-X)/(B) P.T.O.



12.

13.

14.

1 6Y

16.

17.

18.

19:

20.

21.

‘o) Raq’ e H=ET AT B 7

(1) 11 g & (2) 14 R & (3) 28 fogax &1 (4) 12 el
geg’ § H-ar @ ¥ ?

(1) =dsTT e (2) @Y &Y

(3) foremt & 4) =7 q P A&
‘Fem’ &1 diE-fae ®

(1) BT +amem () PR +emam @) B +emen  (4) Fr o+ SRT
=1 O fhe 9= ® ‘S’ go@T T8 ?

(1) sfae (2) ETHISER 3) A (4) IRD
‘TR H HI-E1 FHE B 7

(1) qges (2) &= (3) fay (4) sgdife
Hig B ST B

(1) =fag= (2) =hfe=t (3) FardEl (4) HafEET
SFaf @l faeT U= ® ,

(1) SrEH (2) srenrar (3) oY (4) T
‘ST T T ATl STRT @ FEd ©

(1) STouqs (2) IEEA (3) Fsa=A (4) A
‘SO Rt A1 9gq A uXg dherar Tt el ¢ - aer §
(1) |31 g (2) HIFT AT

(3) Pt arer , (4) T & B T

Public Holidays are declared under ..... e .

(1) Criminal Procedure Code (2) Civil Procedure Code

(3) Negotiable Instrument Act (4) Constitution of India
rASToeh STABI ovvnvneeee s & ot BN foRar ST ®

(1) Saafees ufshar diedr (2) Tafae gfshar wfear

(3) Tehr forge Afarfrad (4) AR w1 Hige

BLBHJ-EE-2022/(SET-X)/(B)



22.

23.

24.

25.

26.

Which of these systems is followed in India 7

(1) Adversarial System (2) Judicial System

(3) Inquisitorial System (4) None of the above

A & = @ fe wOIRh @ e R ST 8 7

(1) sHfereget STl (2) = ST

(3) sy woTedt (4) Sude T & BE e
What is lis pendens ?

(1) A pending suit (2) A pending list of suspects
(3) A pending show cause notice (4) A pending summon

forg 9@ w1 ® 7

(1) T Sfed JehaT (2) dRdr @ o e g

(3) T SR BT S A (4) T dfed

Who is the Legal Advisor to the government of a State in India ?

(1) The Solicitor General (2) The State Chief Legal Officer
(3) The High Court (4) The Advocate General
mﬁﬁﬂﬁm%mﬂwwﬁmﬁwm%?
(1) Siffet S (2) T gEA BT AR
(3) I= IR (4) HeTfeEeR
Which of the following is the oldest High Court of India ?
(1) High Court of Madras (2) High Court of Calcutta

. (3) High Court of Delhi (4) High Court of Allahabad
PR & § @19 ARG H G IO I= T ¥ 7
(1) 719 1 = AT (2) HHTT HI I=H AIRTH
3) Rl &1 I= A (4) 3TEETE H IJed AT

Which of the following is entrusted with a duty of laying down the standards of

Professional conduct and etiquette ?

(1) Supreme Court of India (2) Bar Association of india
(3) Bar Council of India (4) Delhi Bar Council

BLBHJ-EE-2022/(SET-X)/(B)
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4
gifd
ﬁmﬁmﬁﬁ%ﬁ;@fmﬂﬁmmaﬂrﬁmﬂ%mﬁﬁ

YT HI Hxied QAMAT AT B 7
(1) 9Ra & Farsd FEed (2) & QHITHES 3ff gesam

(3) IR BT 37 3o (4) R aX HREEAA

27. 'A' sells his car to 'B' his childhood friend with the knowledge that the car is defective.
Before buying the car 'B' says to 'A' that "if you do not deny it I shall assume that the
car is perfect." 'A'says nothing. In the light of statement decide the liability of 'A’.

(1) 'A’s silence’is equivalent to speech and hence a misrcpresentation.
(2) 'A'is not liable for fraud but liable for misrepresentation.
(3) 'A' is liable for fraud and misrepresentation both.

(4) 'A's silence is equivalent to speech and hence a fraud.

Al ST BT STIY g9 B A% 'B' @Y 39 59 @ a1 i & b P B
%lW@ﬁﬁﬁHﬁ'B’,'A’@m%ﬁs“uﬁmsﬂﬁmﬁ#ﬁm%
ﬁrﬁ‘qﬂiﬂnﬁswwaﬁ%l”'A'@@Hﬁm’%lmw%amﬁ
'A' T S ad Y
(1)'A'aﬁ§aﬁmw%aw%aﬁrm@wam%l
(2)'A'a@@%mmwa%aﬁmﬁwm%mmm
2l ~
(3)'A'eﬁ@a;ﬁaﬁ1fﬁwﬁ"@qwa=ﬁ%%mmﬁr%l
(4) 'A'F Tl SO B S¥eR ¥ IR gEi et 2

28. Fundamental Rights are given in :

(1) Part-I of Constitution (2) Part-III of the Constitution
(3) Part-IV of the Constitution (4) None of the above

At aAfae frgd Ry e & ?

(1) Gfea= & 9rT-1H (2) Efaa™ & 9r-I1 H

(3) €T & wre-IV # (4) ST<H H | i3 Ll

BLBHJ-EE-2022/(SET-X)/(B)



29. 'A'and 'B' Husband and Wife both are the employees of the same institution. 'A’ female
employee files complaint against 'A' for sexual harassment at work place before an
internal complaints committee which i headed by 'B'. After the proceedings are
complete 'B' held 'A' guilty recommended disciplinary action against 'A’. 'A’ can
challenge the proceedings on what grounds ?

(1) 'B'is employee of the same institution and the inquiry should have been conducted

by person outside the institution.

(2) The complaint was filed by female employee so the inquery should be done by

male employee.

(3) 'B' holds a personal bias against 'A' so the inquiry should not have been conducted

by her.

(4) 'A' being the accused should have conducted the inquiry himself.

'A' o ‘B! 9fY &k uehl AN um & Gen & pHerd €1 us Afedr HHA U

STiaR® RepEd affy & g9 sHed X a9 Sdied & g 'A' & e

RIS ot BT 2, Rrae ofemerd B & ofe¥edr # kil 81 HEanl 30 e

S O B XA B A e oX A' B Raae SHITEAIHS HRAR

RIBITRST &1 A’ HRAE! Hr g ST U¥ AR & Fhel & °

(1) 'B' € G &0 A & AR Sirg de ¥ e B Ak &RT Bl ST
Tqife & |

(2) Rrepraa Afee HHA SR &S B TS o 3@l SiE geY HHEr ERT @l
ST ATfey |

(3) B, 'A' & Raei% RKFT q@HE @ &, 39T 36 R Sra 78
ST anfeq &l |

4) 'A'H Y BN B HROT ©F e HIAT =M o |

30. 'A' delivers Pizza at 'B's house by mistake. 'B' consumed without asking anything. Now :
(1) 'B'is bound to pay 'A' for Pizza.
(2) B'is only made liable if an express contract is established between 'A' and 'B'.
(3) 'B'is not bound to pay 'A' for Pizza.

(4) It is the discretion of 'B' to make payment to 'A.

BLBHJ-EE-2022/(SET-X)/(B) P.T.O.




6 B

AL 2 B B, o et P o Bt BB T S S B
(1) 'B'W%W'A'wwaﬂﬁ%ﬁmam%l
(2) B S e ey R & o Ar S B e T R S TS
eI B |
(3)'B'W%W'A'wwm%mmwa€f%l
(4) 'A' B PIAN HAT B 1 FAdemieemr B
31. 'A’ invited 'B' to his house. 'B' after sitting in the Drawing Room moved to the

Bedroom where 'A' was preparing coffee for him. 'A' sued be for trespass -

(1) B’ has interfered with privacy of 'A'.

(2) 'B' has committed no offence as he entered in the house with 'A's consent.

(3) 'B' has offended 'A' moving to the bedroom.

(4) 'B' has committed trespass as there was no consent of 'A" entry in the bedroom.
'A'%'B'a?ram%fWmﬁaﬁ;mu'B'Wmﬁéaﬁ%mwamﬁ

Wﬂgaﬁ'A'w%mmwwwm%mwﬁmw
Hehdl &

(1) B'S 'A' N Muar § sw@g e 2

) B' X P gy =S feam © w6 SEn A B gedfd & 5% H gasr fHar
o |

(3) B'Y 'A' % YgEH F oM § AR & @A B
(4) B'Y oiRerR fean & @i Js&d T AD Haw & HlE FEA Tel ol |

32. Who drafted the Indian Constitution ?

(1) Drafting Committee (2) Constituent Assembly
(3) Indian Kings (4) Constitution Committee
AR dfaeT @1 FaETr fhen dar e or 7

(1) wQrar At (2) dfaes |

(3) S =T (4) wfaer |EfT

33. 'A’ shot 'B' in front of 'C' and pleads 'C' to take 'B' to the hospital. 'C' refused and said |
want that 'B' should die and you are punished for 'B's death. What offence did 'C' do ?

(1) Murder (2) Negligence (3) None (4) Attempt to murder
BLBHJ-EE-2022/(SET-X)/(B)




7
'A' 9 B' ® 'C' B HEA M AR & @)X 'C' ¥ 'B' B IRGd & A & [
fact @1 'C' AT #Y Rar o) wer 6 § @mear € B AR 9 SR
AR 'B' I A & GO & S| 'C' X T ST fRar ?

(1) &cam (2) STURETE! (3) ®E & (4) BT FH TATE

'A' made a proposal to 'B' to sell a chair of Rs. 500/-. 'B' expresses his desire to buy the
said chair for Rs. 400/-

34.

(1) Itis not clear whether 'A' made a proposal to 'B'.

(2) 'B' has accepted the proposal of 'A'.

(3) 'B' has not accepted the proposal of 'A’.

(4) It is not clear that whether 'B' has accepted the proposal of 'A’ or not.

A X B @ wh gl 500~ H9 A I w1y fam) B A g FE A
400/- B9 H G dH W Hekd i |

(1) I8 W F€1 8 6 'A' 9 'B' & s f&aw g ar 78|

(2) 'B' ¥ 'A' B UEE P ©HR HL AT B |

(3) 'B' 7 'A' B u&d B WHR el [HAT B |

(4) 75 T € B 5 B'Y 'A' $ TG B @B AT B AT AL |

35. During the marriage ceremony of 'A' and 'B', 'C' circulated a pamphlet saying that 'D*
sister of 'B', the bride is a thief, she has stolen the shoes in a mall.

(1) 'C' has defamed the bridegroom.

(2) 'C' has defamed the bride.

(3) 'C' has defamed 'D'.

(4) 'C' has not defamed 'D' and he never intended it.

A' 3R 'B' & fae guE & aH, 'C S Uh Uhae q9iRd R e wa
T o B B @ g8 D, geed AR B, 384 Th Hid § Sd XY ¥ |

(1) 'C'Y g A &AM e B

(2) 'C'S geed B F&AH AT € |

(3) 'C'Y 'D' B FEAH AT B |

4) 'C'X D' P g&AH TE A1 & AR IAA HH SR FET A& AT B

BLBHJ-EE-2022/(SET-X)/(B) Pa F0.



36.

37.

38.

B

- ' d to h
'A' confined her daughter 'B' in a room. 'A’ also did not provide any foo =

daughter 'B'. 'B' died of starvation :

(1) 'A' committed the offence of confining 'B".

(2) 'A' committed the offence of causing death of 'B".

(3) 'A' committed no offence.

(4) 'A' committed the offence of not providing food to 'B'.
AR ST A B B @ B A dw aw Ran| AT or ¥ B A
Ao A el @A) B q@ | A5

(1) 'A' 3 'B' & HifAd H 1 Iy FAv |

(2) 'A' ¥ 'B'® G FHIRA B BT AT fHAT B

(3) 'A' 7 ;g Uy &I fHAT |

(4) 'A' ¥ 'B'HI AT IUT ol HIA BN AU [HAT |

'A' takes up a gun not knowing whether it is loaded or not, points it playfully at
pulls the trigger. Consequently 'B' falls dead :

'B' and

(1) 'B' death is not accidental, as there was want of proper care and caution on the part
of 'A'.

(2) 'B's death is accidental as 'A' was just pointing the gun playfully at B

(3) 'B's death is accidental as 'A' had no intention to kill B'.

(4) 'B's death is accidental as 'A' did not have the knowledge that the gun is loaded.

A S5 IO B, T8 W& e 5 g' 90 gg B @1 T, 9 B' X I BT

$ oir fm SfEar 81 Adisias B! A) ST ©

(1) 'B' = g AR & 8, FiMH ‘A H ST § ST I@ART AR A
%I HHT T |

(2) B'@r Al STwHREs © s A B'IT dgh B SR FART FHT IET &A1

(3) 'B'ﬁmm%m'A'W'B'ﬁmmmmqﬁan

4) 'B'a%a@aﬂmﬁqis%mﬁﬁﬁwaﬁugwaﬁmﬁsd@ﬂﬁgé%l

Alibi means a plea by an accused person that he.

(1) was facing trial. (2) was present elsewhere.

(3) underwent preventive detention. (4) remained in judicial custody.

BLBHJ-EE-2022/(SET-X)/(B)
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40.

41.
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greiet b1 A B R ot &fe arr &5 8 & b 9 ¢
(1) JeheR &1 GHAT HT @l o | (2) FE AR AE o |
(3) Mars iy R T (4) = fewraa & @

Under the Constitution of India restriction on freedom of religion can not be placed on

the ground of :

(1) Public Order (2) Social Justice

(3) Morality (4) Health

IR B @ B qeq o & wdsar < gsy fhEe g 9X 7@ amar
ST Eehell & 7

(1) grasii=es aeen (2) TSR =™

(3) AAferenar (4) e

Which one of the following is not a directive principle of State Policy under Part-IV of
the Constitution of India ?

(1) Promotion of Adult Education

(2) Promotion of International Peace and Security

(3) Organization of Village Panchayats

(4) Provision of just and human conditions of work and maternity relief

frfaRead & @ B9 9RT & dfage & AF-IV & ded aed Al @l HRse
fosiaq 7ef 2 ?

(1) S fRrem @t sgrar <

(2) SRIsfg erifq S GREM &l qgrar a1

(3) UM YAEQl B TS

(4) M FH FFETT AR AT RARET AR AT T&Ad BT AL

The Fractions 7/11, 16/20 and 21/22 when arranged in descending order are :
AR B H HaRed 89X BT 7/11, 16/20 TR 21/22 @=m BRfy ?

(1) 7/11, 16/20, 21/22 (2) 21/22, 7/11, 16/20
(3) 21/22, 16/20, 7/11 ) 7/11,21/22, 16/20

P, O,
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42,

43.

44.

45.

46.

47.

ropriate number.

In the series 2,5, 11, a5 , 47. Fill up the gap with the app
G2, 5, 11, <onv oo 477 g wen @ Rew e @ g U
(1) 12 2) 10 3) 23 (4) 24

Fill up the blanks with appropriate number :
Re &= 1 gfd IR der | $ifc ¢

5 30 120
7 56 336
9 ‘ O0E (S . .oemees:

(1) 841 (2) 720 (3) 752 4) 728

12 :20 :: 30 : 2 — Choose the correct alternative for the place of question mark (?) :
12:20::30: 7 -9 Fred (7)) @& & fog SR fashed w1 =97 Y -
(1) 40 (2) 42 (3) 50 (4) 44
F:37::1:?— Choose the correct alternative for the place of question mark (?) :
F:37:1:2-997 faed (2)3 &F & e Sfuq faswed 1 99 HY :
([@)s52 (2):27 (3) 75 4) 82

3-243 = 5 : 7 — Choose the correct alternative for the place of question mark (?) :
3:243 ::5: 7 — 98 @A (7))@ T & g sfed fawed &1 w9 Y
(1) 57 (2) 425 (3) 3125 (4) 355

If LODES is coded as 46321, how will you code the word DOES ?

uﬁLODEsaﬁ46321%wﬁrﬁ%aﬁmm%,ﬁramDOESsema%r%@r

HS HAT ?
(1) 1234 2) 4321 3) 3621 (4) 4321

BLBHJ-EE-2022/(SET-X)/(B)
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50.

51.

11

. Ram facing is South. He turns right and walks 40 meters. Then he turns right again and

walks 20 meters. Then he turns left and walks 20 meters and then turns right to walk 40

meters. Then he turns right again and walks 120 meters. In which direction he is from
the starting point ?

(1) North-East (2) North-West  (3) North (4) West

T B JE IR/ 6 AR | g8 @ gear T o} 40 Hex wewr T a9 9w
f6X & o™ Jar & ol 20 fiex wwar 21 R a8 and gear ¥ oW 20 Hex
W%@Rmaﬁwmﬁaw%laﬁaﬁm%aﬁg@m%m
120 X = T 1 39 T8 P g & e Rem 7 ¥ 7

(1) ST-gd (2) STTufdem (3) IwX (4) qfy=w

Rohan walks a distance of 3 km towards North, then turns to his left and walks for
2 km. He again turns left and walks for 3 km. At this point, he turns to his left and
walks for 3 km. How many kilometres is he from the starting point ?

(1) Tkm (2) 2km (3) 3 km (4) 5km

Ued I Al S 3 6 =rar B, fpe oow e goar B oK 2 fdt = B
g i @ 9N gear B o 3 ol Teien ¥ 3@ Rig © @@ orwel o &)
gedl & AR 3 Rl =ier B 1 g8 o fig & fhaw Rhaimier ¥ B 7

(1) 1% (2) 2 fpHT (3) 3 (4) 5
Which one among the following does not belong to the group ?

(1) Maestro (2) Visa (3) Master (4) Credit Card
frfaiea # @ @9 98 § Gdfoa 787 2 °

(1) HIEE (2) dist (3) A=Y (4) ®fse HE

A, B, C, D and E are five rivers. A is shorter than B but longer than E. C is
the longest and D is a little shorter than B and a little longer than A. Which is the
shortest river ?

A, B, C,D IR E ufa wfeat 1A, B B ¢ dfeet EQ &l 81C 999 «dl &
ST D,BY AL BIEY @ 3R AQ NI el & | §99 BIel 91 HiA-dl & ?

(1) B 2 C 3) D (4) E

BLBHJ-EE-2022/(SET-X)/(B) : P. TS0,
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52.

53.

54.

55.

Which word does not belong with the others ?

(1) index (2) glossary (3) chapter (4) book
HF-AT = AL F Tl F&T 8 7
(1) g=rehich 2) s (3) T () ot

If F is the brother of A, C is the daughter of A, K is the sister of F and G is the brothe;

of C, then who is the uncle of G ?
(4) None of the above

(1) F @) K 3) C
qf?F,AEBrmé%,C,Aaﬁgsﬁ%,K,Faﬁaﬁ%aﬁTG,Czﬁf‘ﬂT“i‘%,aGw
oqrar i § °

(1) F ) K 3) C 4) 3% | B A T

A has three children. B is the brother of C. and C is the sister of D, E who is the wife of
A and is the mother of D. There is only one daughter of the husband of E. What is the

relation between D and B ?

(1) B is the brother of D (2) B is not related to D

(3) D is asister of B (4) None of the above
A%?ﬁ?-rafa%lB,CWﬂTs‘%aﬁTC,Da%aﬁ%,EGﬁAaﬁqFﬁ%aﬁ{D
& 5 2 ES oy 3 S9¢ T 39 21 DARBH A= FA G T 7

(1) B,D T T8 & (2) B,D @ wsifta et @

(3) D,B& & @ (4) STAFT F F HIS Aol

A person crosses a 1200 meter long street in 10 minutes. What is the speed in

kilo metre per hour (km/h) ?
(1) 7.2 km/h

(3) 9 km/h
o R 1200 Hex Tl @b B 10 FFe F 9 Hyar ¥ Reafex o o
¥ I G FT T 7

(1) 7.2 fepeirdiex g &t (2) 8 fpairiex ofer ey
3) 9 fopendiex afy =er (4) SUUHT F q Hg e

(2) 8 km/h
(4) None of the above




56.

57.

58.

59.

60.

61.
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A train whose length is 320 meters is running at a speed of 36 km/h. How much time

will it take to pass a pole ?
(1) 30 Second (2) 32 Second (3) 36 Second (4) 40 Second

qmaﬁmﬁmmrﬁa%w%mwﬁﬁwaaﬁs@%n

a O B R B F R qHF T 7
(1) 30 9hUs (2) 32 €&HS (3) 36 9HTS (4) 40 GHUS

The Year next to 1991 will have the same Calendar as that of the Year 1991.

q¥ 1991 & & fhg a¥ & 1991 & I HATST SR 7

(1) 1992 (2) 1995 (3) 1996 (4) 1997

If 22 April, 2013 was Monday, then what was the day of the week on 22nd April,

2012 ?
(1) Sunday (2) Saturday (3) Tuesday (4) Wednesday

afx 22 ofie, 2013 H GHARX o1, @ 22 3T, 2012 @ <8 HI HiA-4T &
oqr ?

(1) MaEr (2) SFER (3) HITEER (4) gEAX

How many numbers are there between 1 and 100 that are not divisible by 3 and 5 ?

1 a3 1003 g O feae deat € o 395 R 7@€ 7
(1) 47 (2) 43 (3) 53 (4) 58

In a group of 40 people, 25 speak English and 20 speak both Hindi and English. All the
people speak at least one of the two languages. How many people speak Hindi ?

40 AT B T &, 25 SN Aaq § X 20 D SR SN AAT Nwd T @A
AT &) el F ¥ B q HH T 9N S & | feam e B S @ 7

1) 15 ) 20 3) 25 4) 30

The word 'Veda' means :

(1) God (2) Soul (3) Truth (4) Knowledge
QY I HT I B
(1) 3% (2) ST (3) 9 (4) s

P.T. O.
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62.

63.

64.

65.

66.

67.

The first General Elections were held in India, in :

(1) 1948 A.D. (2) 1950 A.D. (3) 1952 A.D. (4) 1955 A.D.
ARG 7 I8l 9 g9 ga & :

(1) 194830 & (2) 1950%0 &  (3) 195280 &  (4) 1955%0 H

Saka Era begins in the year

...............

(1) 320 AD. (2) 178 AD. (3) 58 AD. (4) 78 A.D.
6 TG Y& BT g, 99

(1) 32080 H 2) 178 $o § (3) 58 %o 4) 78 %o H

The founder of 'Nath Panth' in Haryana was :

(1) Garib Das (2) Chaurangi Nath (3) Veer Bhan (4) Nishchal Das

ERATOT & ‘91T 9’ $ degen o

(1) ™= | 2) I A (3) R W= (4) Figaer a=

The Doctrine of Lapse' was associated with :

(1) Education (2) Social Reforms

(3) Princely States
T H T gt o
(1) ferem |

(4) Political Reforms

(2) ISR gart |
(3) 2=0 RamEat | (4) TS GERT

The "World Population Day' is celebrated on ............

(1) 11th July (2) 21st July (3) 11th June (4) 21st June

‘faea SEE Raq’ g9/ Sar @

(1) 11 &1 (2) 2198 B (3) 11 S & (4) 215 &

'World Day of Social Justice' is celebrated on
(1) 17th February
(3) 21st February

--------------

(2) 20th February
(4) 28th February

BLBHJ-EE-2022/(SET-X)/(B)



‘fagg AMATSTH =T R’ Hamr sy

(1) 17 A B 2) 20 HTH Y

(3) 21 ®LEA B (4) 28 R =
68. The Thar Desert continues into Pakistan and called as ............. .

(1) Pak Desert (2) Sahara Desert

(3) Gobi Desert (4) Cholistan Desert

I T, uTfeheT™ e fegd & R ... |

(1) 91 I Hea (2) FerT IR FHed &

(3) M A P (4) A= IPRAE P
69. Which river of India is called 'Vridha Ganga' ?

(1) Krishna (2) Godavari (3) Kaveri (4) Narmada

IRA & FE A0 B ‘G W HBT S © 7

(1) $=m (2) Marer (3) Wl (4) =H=T
70. The working principle of washing machine is :

(1) reverse osmosis (2) diffusion

(3) centrifugation (4) dialysis

aifaFT AefiE 1 & Ra=ia @

(1) fade arEReT (2) FETT

(3) SAIBHAIDHT (4) st -

71. The speed of light will be minimum while passing through :
(1) Water (2) Vacuum (3) Air 4) Glass

yepST 1 TRT =GATH Bl ® S g8 oI ©
(1) I & 4@ QEH FF (Q)agH A (4) g & |

72. Which is best sound absorbing material in partition walls ?

(1) Stone chips (2) Steel
(3) Glass-wool (4) Glass pieces

BLBHJ-EE-2022/(SET-X)/(B) P.T.O.
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73.

74.

75.

76.

77.

ARt B 9= F afy saiys arEl s9-ar 8 7

(1) €= R (2) FE

3) B H = (4) HE B HS

The first effective vaccine against Polio was prepared by :

(1) Robert Edwards (2) James Simpson

(3) H. Gibbon (4) Jonas E. Salk

RN F R o syt S Ry @ ST R T AT L
(1) e wsagH ) S e

(3) waIo Frem (4) ST=TE o Ah

Air Conditioner was discovered by :

(1) Edison (2) Wilson (3) Carrier (4) Roentgen
TR FEET B @t RhEd FW A T A ?

() e () faeed 3) IR (4) TE=IoTT
The Pavo Cristatus is the zoological name of :

(1) Swan (2) Lion (3) Peacock (4) Cow
grEt e Sa-asiie A 8 ¢

(1) &9 & 2) R & (3) =X & GITHIRE

When did the National Informatics Centre (NIC) was established ?
T gE ReT e (TTSTEE) A wOr 9 H TR A 7

(1) 1972 (2) 1976 (3) 1978 (4) 1980
Which of the following is not a part of India's National Debt ?

(1) Provident Fund (2) Life Insurance Policies
(3) National Saving Certificates (4) Long Term Govt. Bonds
P & ¥ F ARG B LT FOT H e 7@ 7

(1) wfes e (2) Sha ST giferd!

(3) U TEd 9= (4) P BN digH

BLBHJ-EE-2022/(SET-X)/(B)




78. The largest soj] group of India is -
(1) Red Soil

(3) Sandy Soil

(2) Black Soil
(4) Mountain Soil

DN () e ey
(3) el oy (4) TETEl P

79.  Environment Protection Act was enacted in the yedarbes: i :
(1) 1986 (2) 1989 (3) 1992 (4) 1972
TARET T S st Rear T T A |
(1) 1986 o (2) 1989 (3) 1992 # (4) 1972 %

80. How many Wimbledon titles won by Novak Djokovic ?

Wﬁ?ﬁﬁﬂ%ﬁﬁ%iﬁwaﬁweﬁ%%?
(1)¢8 (s (3) 7 4) 6

Instruction : Read the following passage carefully and answer the question Nos. 81 to 85 :
The Golden Temple stands in the City of Amritsar. It is most sacred to the Sikhs. It stands in
the heart of the city. In fact, the city grew up around the temple.

The temple stands in the centre of a big tank which is always full to the brim with clear water.
The tank was excavated by Guru Ram Dasji in the year 1589. On all the four sides of the tank
runs a broad path paved with beautiful marble tiles. A marble causeway leads to the temple
proper. The walls of the temple are also made of marble. There are beautiful floral decorations
on the walls. These are inlaid with precious stones. The temple has a gilded dome. It has four

doors instead of one. The temple is open to all castes and creeds. The reflection of the temple
in the clear water of the tank is a sight to see.

81. Guru Ram Dasji excavated the tank ...........
(1) which leads to the temple of Amritsar.

(2) which lies near the Golden Temple.

(3) at the centre of which stands the Golden Temple.

(4) which contains little water.
‘BLBHJ-EE-2022/(SET-X)/(B) P.T.O.
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82. What does the passage describe ?
(1) The tank around the Sikh Temple. (2) The religion of the Sikhs.

f the Sikhs.
(3) The walls of the Golden Temple.  (4) The famous Golden Temple ©

83. Thetempleisopento .......... .
(1) everyone (2) only the Sikh men.
(3) only the Sikhs and Hindus. (4) only the Hindus.

84. The tank was excavated by Guru Ram Dasji. Here texcavated' MEANS «.---**

(1) inaugurated (2) made up
(3) first used (4) dugup
85. The broad path round the tank ..........
(1) is made of marble. (2) is paved with marble tiles.
(3) is inlaid with precious stones. (4) consists of floral designs.

86. 'Unequivocal' means ..........
(1) having only one vocal cord.
(2) having two neatly balanced meanings.
(3) having only one possible meaning.

(4) having only moral applications

87. Which of the following is opposite of 'confident' ?
(1) Assertive (2) Upbeat (3) Diffident (4) Sanguine

88. Which of the following is nearest in meaning to ‘amazement' ?

(1) Composure (2) Stupefaction  (3) Indifference  (4) Disdain

89. Which of the following is incorrectly spelt ?
(1) Misspelt (2) Wierd (3) Narcissistic 4) Acdessory

90. Which of the following is correctly spelt ?
(1) Brocolli (2) Vaccum (3) Ocassion (4) Entrepreneur
BLBHJ-EE-2022/(SET-X)/(B)



(1) This book gives much Valuable information.

(2) Applauses were heard from the hall.

(3) We are dealmg 1N potteries, crockeries and cutleries.

(4) We have purchased new machineries for the factory.

92.

Which of the following sentences is grammatically correct ?

(I) Many a Passengers has lost his luggage.

(2) He is foremost lawyer in the city.

(3) Raman is taller than any student in the class.

4) Temples are seen on either side of the river.

93.

Which of the following sentences is grammatically incorrect ?

(1) As soon as the train arrived than the passengers rushed into it.

(2) It was nice of you to come and see me when I was ill.

(3) They told me they were sorry on the situation, but there was nothing they could do.
(4) They were delighted with the present I gave them.

94.

Which of the following sentences is grammatically correct ?

(1) The traffic police said me I couldn't park my two-wheeler there.

(2) He said that he was sure that justice would be done.

(3) They wanted to know what was my name ?

(4) He told me to come back tomorrow.

95. If she had studied Mandarin, she ........... to China.
(1) will be able to go (2) would go _
(3) can go (4) would have gone
96. Ifwishes ........ horses, beggars would ride.
(1) were (2) are (3) may be

BLBHJ-EE-2022/(SET-X)/(B)
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97. She had sprained her ankle. ........... she managed to participat€ B i
competition.
(1) Along with that (2) In addition to that
(3) In spite of that (4) Also

98. Iwill callyou...........
(1) Whenever I have the results (2) Wherever I have the results
(3) IfI had the results (4) If I had got the results

99. The idiom, "To pay through the nose" means :
(1) To pay an amount exact and correct to a pie
(2) To pay more than the fair price
(3) To pay back the loan
(4) To pay in kind

100. The idiom, "On the rocks" means :
(1) In trouble (2) To do things in the wrong order
(3) To settle down in a rocky area (4) To be defeated

BLBHJ-EE-2022/(SET-X)/(B)
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Instruction : Read the following passage carefully and answer the question Nos. 1105 :

The Golden Temple stands in the City of Amritsar. It is most sacred to the Sikhs. It stands in
the heart of the city. In fact, the city grew up around the temple.

The temple stands in the centre of a big tank which is always full to the brim with clear water.
The tank was excavated by Guru Ram Dasji in the year 1589. On all the four sides of the tank
runs a broad path paved with beautiful marble tiles. A marble causeway leads to the temple
proper. T'he walls of the temple are also made of marble. There are beautiful floral decorations
on the walls. These are inlaid with precious stones. The temple has a gilded dome. It has four

doors instead of one. The temple is open to all castes and creeds. The reflection of the temple
in the clear water of the tank is a sight to see.

1. Guru Ram Dasji excavated the tank ...........
(1) which leads to the temple of Amritsar.
(2) which lies near the Golden Temple.
(3) at the centre of which stands the Golden Temple.
(4) which contains little water.
2. What does the passage describe ?
(1) The tank around the Sikh Temple. (2) The religion of the Sikhs.
(3) The walls of the Golden Temple. (4) The famous Golden Temple of the Sikhs.
3. The templeisopento.......... .
(I) everyone (2) only the Sikh men.
(3) only the Sikhs and Hindus. (4) only the Hindus.
4. The tank was excavated by Guru Ram Dasji. Here 'excavated' means ... ...
(1) inaugurated (2) made up (3) first used (4) dugup
9. The broad path round the tank .......... . '
(1) is made of marble. (2) is paved with marble tiles.
(3) is inlaid with precious stones. (4) consists of floral designs.
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6. 'Unequivocal' means

----------

(1) having only one vocal cord.
(2) having two neatly balanced meanings.
(3) having only one possible meaning.
(4) having only moral applications
7. Which of the following is opposite of 'confident' ?
(1) Assertive (2) Upbeat (3) Diffident (4) Sanguine

8. Which of the following is nearest in meaning to 'amazement’ ?

(1) Composure (2) Stupefaction  (3) Indifference  (4) Disdain

9. Which of the following is incorrectly spelt ?
(1) Misspelt (2) Wierd (3) Narcissistic  (4) Accessory

10. Which of the following is correctly spelt ?
(1) Brocolli (2) Vaccum (3) Ocassion (4) Entrepreneur

11. Which of the fallowing sentences is grammatically correct ”
(1) This book gives much valuable information.
(2) Applauses were heard from the hall.
(3) We are dealing in potteries, crockeries and cutleries.
(4) We have purchased new machineries for the factory.
12. Which of the following sentences is grammatically correct ?
(1) Many a passengers has lost his luggage.
(2) He is foremost lawyer in the city.
(3) Raman is taller than any student in the class.

(4) Temples are seen on either side of the river.

BLBHJ-EE-2022/(SET-X)/(C)




. Which of the following sentences is grammatically incorrect ?
(1) As soon as the train arrived than the passengers rushed into it.

(2) It was nice of you to come and see me when [ was ill.

(3) They told me they were sorry on the situation, but there was nothing they could do.

(4) They were delighted with the present I gave them.

4. Which of the following sentences is grammatically correct ?
(1) The traffic police said me I couldn't park my two-wheeler there.
(2) He said that he was sure that justice would be done.

(3) They wanted to know what was my name ?

(4) He told me to come back tomorrow.

15. If she had studied Mandarin, she ........... to China.
(1) will be able to go (2) would go
(3) can go (4) would have gone
16. If wishes ........ horses, beggars would ride.
(1) were (2) are (3) may be (4) can be
17. She had sprained her ankle. ........... she managed to participate in the dance
competition.
(1) Along with that (2) In addition to that
(3) In spite of that (4) Also
18. Iwillcallyou.............
(1) Whenever I have the results (2) Wherever I have the results
(3) If1 had the results (4) If I had got the results

19. The idiom, "To pay through the nose” means :
(1) To péy an amount exact and correct to a pie
(2) To pay more than the fair price
(3) To pay back the loan

(4) To pay in kind
BLBHJ-EE-2022/(SET-X)/(C).
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20. The idiom, "On the rocks" means :
(1) In trouble (2) To do things in the wrong order
(3) To settle down in a rocky arca (4) To be defeated

21, g9 -9 M=K & 7
(1) dg9a (2) TEH (3) _ST (4) fash

22. q, Q, of, off -8 WX € 7
(1) <" @ (2) T4 @Y Q) @y @YX (4) T @ @%@

23. &=l wor g fafy & forelt ot @ 7

(1) FRrs (2) STEN (3) TEE! (4) AR
nq 3AH gof wrafud i fFa o= A & 7

(1) SAAMYRR (2) T (3) TS (4) AR
25. AN § H-AT AYH TEl & ?

(1) A& (2) SFTHL (3) S (4) I
26, ‘s G ¥ — F d-E BRar @ 7

(1) FHS haT (2) AHHE RAT

(3) (1) 3T (2) &l (4) 395 q FIg Al
27. ‘STET QNI BT e & I§ FT Hed € !

(1) 974 (2) | (3) qHaA (4) 998
28. ‘I HaTAT HeEX & I T

(1) Jga as1 Al (2) Sgd deIEh BT

(3) gra-faar & 9 (4) SFgd IET HIAT
29. ‘gaasrg;am:ﬁasrqﬁ’aﬂe?ef%:

(1) g& faof (2) HISLOT AT

(3) (1) 3T (2) I (4) 377 | PR TEl
30. ‘GTI’EHT’EHW?TGT%:

(1) =T (2) ST (3) TRHATHT (4) 5
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1. B & ufeg Ferier § -

(1) &m0 ware faad (2) dEr<

@) s (4) gerdiara
2. < Raw’ e 79m™n san § 7

() 11 SR & (2) 14 fadex & (3) 28 Ry &1 (4) 12 S9ady &
3. ‘o’ # -1 G@fy ¥ 7

(1) =5 |1y (2) X 4

(3) | Hf (4) 5T | Fg T
34. ‘TS’ &1 diy-foese B

() T +amem Q) MR +emem (3) e +omem (4) B + e
35. H 4 59 == ¥ ‘g wwg & & ?

(1) 3w (2) | (3) Nfyes (4) ufers
36. ‘TEIRY H HH-G1 999 & 7

(1) Tcge (2) &= (3) faTy (4) sgAite
37. &Hid FH ST B

(1) A=l (2) g (3) Hara= O EIEIRE]
38. ST &I AT =k B :

(1) AEHH (2) 3TRIST (3) =X (4) T
39. ‘ST H T gl ST &l FHed & -

(1) STST=a (2) sEE 3) FsaA (4) HTEE
40. ‘IHC 9ftem A1 9gd fhar WX awaar & el ¢ Pie-ar aeg ® 7

(1) | ar (2) HgFT

(3) iz ar (4) 379 | HZ &
41. The word 'Veda' means :

(1) God (2) Soul (3) Truth (4) Knowledge

‘AT’ = FT A B

(1) g9aX (2) ST (3) & (4) s
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42.

43.

45.

46.

47.

The first General Elections were held in India, in :
(1) 1948 A.D. (2) 1950 A.D. (3) 1952 A.D. (4) 1955 A.D.

AT H 98s 3H gAd BY A ¢
(1) 194880 &  (2) 195030 F  (3) 195280 &  (4) 195580 H

Saka Era begins in the year .............. .

(1) 320 A.D. (2) 178 A.D. (3) 58 A.D. (4) 78 A.D.
H G Y& Bl 8, a9 ......... 4

(1) 32050 # (2) 178 %0 H (3) 58 %0 H (4) 78 o #

The founder of Nath Panth' in Haryana was :
(1) Garib Das (2) Chaurangi Nath (3) Veer Bhan (4) Nishchal Das

RGO H§ ‘AT 9’ & §EJUSH g
(1) " g4 2) TGN Ay (3) X 9= (4) o= @™

The Doctrine of Lapse' was associated with :

(1) Education (2) Social Reforms
(3) Princely States (4) Political Reforms
‘A FH == T o

(1) ferem 4| (2) amIfoTs garid |
(3) 2t RamEdl | - (4) TeTHE guRI 9

The '"World Population Day' is celebrated on ........... :
(1) 11th July (2) 21st July (3) 11th June (4) 21st June

e STEEAT Baq’ 79" SIAT 8 vvveeennnn. |
(1) 11 9arE & (2) 215emE & (3) 11 [ & (4) 21537 3

'World Day of Social Justice' is celebrated on ..............

(1) 17th February (2) 20th February
(3) 21st February (4) 28th February
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(1) 17 &Gq & (2) 20 HXEL HI
(3) 21 ®HEU & (4) 28 ®HXEL
48. The Thar Desert continues into Pakistan and called as ............. .
(1) Pak Desert (2) Sahara Desert
(3) Gobi Desert (4) Cholistan Desert
X A, qifeheaE @ g & B & o |
(1) 9k WA Fed & (2) FerT I FEd @
(3) e W FHed & (4) ST P wed €
49. Which river of India is called "Vridha Ganga' ?
(1) Krishna (2) Godavari (3) Kaveri (4) Narmada
ARG &l e Fd A ‘G T HBT Sl & 7
(1) F=m (2) el (3) Hd (4) THaT

50. The working principle of washing machine is :

(1) reverse osmosis (2) diffusion
(3) centrifugation (4) dialysis
IR A hl H H=eid @

(1) [aoda gaaer (2) J9IoT
(3) STTH=IHIT (4) sEITEd

51. The speed of light will be minimum while passing through :
(1) Water (2) Vacuum (3) Air (4) Glass
gl Fl A FAGH Bl & 5o I8 TSI §
(1) 51 & & QgIEHEFaA () IagH4 4) == 7 |

52. Which is best sound absorbing material in partition walls ?

(1) Stone chips (2) Steel
(3) Glass-wool (4) Glass pieces

BLBHJ-EE-2022/(SET-X)/(C) | 223 i O A




23.

o4.

99.

96.

o7.

ARt & fawee § afy sgys amEt dE-ar 8 7

(1) & (2) gEard

(3) P H EF (4) B B Ths

The first effective vaccine against Polio was prepared by :

(1) Robert Edwards (2) James Simpson

(3) H. Gibbon (4) Jonas E. Salk

qfRrEr & Raes wery sy Ser fhas &T 99 faar T an o
(1) e qeagH (2) S/ faEs

(3) o M= (4) SHTE o Hh

Air Conditioner was discovered by :

(1) Edison (2) Wilson (3) Carrier (4) Roentgen
TR HSIIFET B GioT e arr @ 1 o 7

(1) TS| (2) e (3) BRI (4) Ag=IoA
The Pavo Cristatus is the zoological name of :

(1) Swan (2) Lion (3) Peacock (4) Cow
gral fFeeed Sia-asii-ie 9 8

(1) 9 o (2) AT FH (3) |AIX & (4) T H

When did the National Informatics Centre (NIC) was established ?
TG AT s & (THSASE) H W9 B Bl T3 AT 7

(1) 1972 (2) 1976 (3) 1978 (4) 1980
Which of the following is not a part of India's National Debt ?

(1) Provident Fund (2) Life Insurance Policies
(3) National Saving Certificates (4) Long Term Govt. Bonds
= & @ P9 9IRGB TS FOT &l ewdr 787 8 7

(1) wfasy i (2) Sitg= ™7 diferar

(3) TS AT G (4) ST TR gigg
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8. The largest soil group of India is :

(1) Red Soil (2) Black Soil
(3) Sandy Soil (4) Mountain Soil
AR & G99 927 937 998 @
(1) =t e (2) i fred
(3) it g (4) FeTSt Fed
99. Environment Protection Act was enacted in the year ............ :
(1) 1986 (2) 1989 (3) 1992 (4) 1972
qaigRer d@eror srfufay sl e mrar ad L |
(1) 1986 # (2) 1989 # (3) 1992 H (4) 1972 #

60. How many Wimbledon titles won by Novak Djokovic ?

AEE Aptag 3 fhaq free=sa s shia & 7
(1) 8 (2) 5 (3) 7 (4) 6

61. The Fractions 7/11, 16/20 and 21/22 when arranged in descending order are :

STEEl HH H Faied 89 9T B 7/11, 16/20 < 21/22 F97 2°f ?
(1) 7/11, 16/20, 21/22 (2) 21/22,7/11, 16/20
(3) 21/22, 16/20, 7/11 4) 7/11, 21/22, 16/20

D2. .Inthesenes 2: :11,...:... , 47. Fill up the gap with the appropriate number.
@12, 5,11, ......,47H I9gad g § R &= & gied 1|
(1) 12 (2) 10 (3) 23 (4) 24

63. Fill up the blanks with appropriate number :
et &&= 3l gfc Sfaa d@emn | FHifig

S 30 | 120
7 56 336
: .
9 3 VSN e
(1) 841 (2) 720 (3) 752 (4) 728

BLBHJ-EE-2022/(SET-X)/(C)
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64.

65.

66.

67.

68.

12 : 20 :: 30 : 2 — Choose the correct alternative for the place of question mark (7) :

12:20::30: 7 - 999 Rrest (7) & e & forg IfEr fashed =5 h

(1) 40 (2) 42 (3) 50 (4) 44

F:37:1:9- Choose the correct alternative for the place of question mark (?) :
F:37:1:2-usq Req ()& @ & fog SfHa f@ewmed o =490 Y :
(1) 52 (2) 27 (3) 75 (4) 82

3:243 :: 5: 2 — Choose the correct alternative for the place of question mark (52)

3:243 5522 — W9 P ()@ e & for SferT fashed b =T B
(1) 575 (2) 425 (3) 3125 (4) 355

If LODES is coded as 46321, how will you code the word DOES 7

af> LODES @1 46321 & ®q # ahifed fepar sirar g, ol 39 DOES ST &l Hd
HIS HOT ?

(1) 1234 (2) 4321 (3) 3621 (4) 4321

Ram facing is South. He turns right and walks 40 meters. Then he turns right again and
walks 20 meters. Then he turns left and walks 20 meters and then turns right to walk 40
meters. Then he turns right again and walks 120 meters. In which direction he is from

the starting point ?
(1) North-East (2) North-West

(3) North (4) West

T T g et @ oI B g8 I P § SIX 40 HIEX F@« g a9 I

RpT @ & gedr @ ofe 20 Hiex worl B fHY 9 A gear ® ok 20 HIA
—orar & afT fpe A geeht 40 HieX Sedl 81 a9 98 Y @ g gar § &l

120 HeX Iadr & | 379 d8 RS foig 4 fpg Ream 7 @ 7

(2) IA-9iEH

(1) IaL-gd

(3) ITX (4) 49ig=™

BLBHJ-EE-2022/(SET-X)/(C)
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69. Rohan walks a distance of 3 km towards North, then turns to his left and walks for

2 km. He again turns left and walks for 3 km. At this point, he turns to his left and
walks for 3 km. How many kilometres is he from the starting point ?

(1) 1km (2) 2 km (3) 3 km (4) 5 km

WW@WW%W3MW%|%E@W%W@T§@T
gsm%eﬁ?3ﬁstﬁaw%la€aﬂﬁﬁzﬁf%@%ﬁﬁﬁ%tﬁag%?

(1) 1=t (2) 2 fepe (3) 3 ey (4) 5 fepet
70.  Which one among the following does not belong to the group ?
(1) Maestro (2) Visa (3) Master (4) Credit Card
MR & & A9 @ @ ddtg 787 S 2
(1) AeED (2) e (3) AR=X (4) BfsT HE

7. A, B, C, D and E are five rivers. A is shorter than B but longer than E. C is

the longest and D is a little shorter than B and a little longer than A. Which is the
shortest river ?

A,B,C,D SRE Ui AT 81A, B Y 8151 £ Afp9 E & o 1C 9o oy 2
WD,B%@@%%WAQW‘%%W%@#@%?

(1) B (2) C 3) D 4) E
72. Which word does not belong with the others ?
(1) index (2) glossary (3) chapter (4) book
ShIF-A1 9% a3 | dafad 787 8 7
(1) =i (2) sT=ETETl (3) AT (4) Tepda

73. If [ is the brother of A, C is the daughter of A, K is the sister of F and G is the brother
of C, then who is the uncle of G ?

(1) F (2) K (3).C (4) None of the above

A F, A 9% &, C,Aal G &, K, F &l 89 8 3R G, C &l 9 &, a7 G @
| g i & 7

(1) F (2) K (3)EC (4) 379 | Bl AT TET

~ BLBHJ-EE-2022/(SET-X)/(C) RAT. O.
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74. A has three children. B is the brother of C. and C is the sister of D, E who 1s the wife of
A and is the mother of D. There is only one daughter of the husband of E. What is the §

relation between D and B 7
(1) B is the brother of D (2) B is not related to D

(3) Disasister of B (4) None of the above

AD d I=3 81 B, Ca&r o3 8 37X C, D& aeq &, EST A® goil 8 X D
EﬁW%IE%qﬁﬁWWaﬁ%IDGﬂTB%EﬁHWWQ%?

(1) B,D@T 18 © (2) B,D @ defea 7@l ©
(3) D,BaY &9 & (4) IqAFT 7 G g T
75. A person crosses a 1200 meter long street In 10 minutes. What is the speed 1n
kilo metre per hour (km/h) ?
(1) 7.2 km/h (2) 8 km/h
(3) 9 km/h (4) None of the above i

Qfﬁaﬁﬁlzoorﬁaaaﬁmaﬁrloﬁmzﬁwm%lﬁﬁahvﬂﬂﬁﬁw
7 I G F=T B 7

(1) 7.2 fepatiHe gid =T (2) 8 feRaiHIeY afa =T

(3) 9 fepirHiex ufa e (4) IUeT H F B Al

76. A train whose length is 320 meters is running at a speed of 36 km/h. How much tim¢

will it take to pass a pole ?
(1) 30 Second (2) 32 Second (3) 36 Second (4) 40 Second

@ﬁ?ﬁﬂﬁ%aﬁﬁ3zoﬁa%agséﬁsﬁnﬁa%aﬁwﬁ%€@%|
A e e LR B s b LS L R MRS R L

(1) 30 7S (2) 32 dhUS (3) 36 9hHUS (4) 40 HH°S
The Year next to 1991 will have the same Calendar as that of the Year 1991.
g§ 1991 & are &9 a4 H 1991 & GHTE DHavsT BHIT 7

(1) 1992 (2) 1995 (3) 1996 (4) 1997

o

78. If 22 April, 2013 was Monday, then what was the day of the week on 22nd April,

2012 ?
(1) Sunday (2) Saturday (3) Tuesday (4) Wednesday

BLBHJ-EE-2022/(SET-X)/(C)
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afe 22 3, 2013 H GHE o1, o 22 3, 2012 FH <@ H HiF-ar &
3 |
(1) Xrear (2) iFER (3) HIEETT (4) gEETT

79. How many numbers are there between 1 and 100 that are nof divisible by 3 and 5 ?

1 3R 100 & g A fopaht et & s 305 vy 787 & 7
(1) 47 (2) 43 (3) 53 (4) 58

80. In a group of 40 people, 25 speak English and 20 speak both Hindi and English. All the

people speak at least one of the two languages. How many people speak Hindi ?

40 T & T H, 25 SN Ao ¥ ol 20 R &R Sidsht AT e ¥ ogel
AT & AWl § § w9 § H9 U 9 ey &1 Ay ot 2 e B 7

(1) 15 (2) 20 (3) 25 (4) 30

81. Public Holidays are declared under

llllllllllll

‘
(1) Criminal Procedure Code (2) Civil Procedure Code

(3) Negotiable Instrument Act (4) Constitution of India

82. Which of these systems is followed in India ?

I (1) Adversarial System (2) Judicial System

(3) Inquisitorial System (4) None of the above

I H 2949 9 B9 Jorell &1 aes fhar Ser 7
(1) wfciepat womett (2) =1feF JoTel

(3) ST=TY SOl (4) SR 7 q PF 78
83. What is /lis pendens ?

(1) A pending suit (2) A pending list of suspects

(3) A pending show cause notice (4) A pending summon

BLBHJ-EE-2022/(SET-X)/(C)
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ford 97 /=1 8 7
(1) U wifed gapaT
(2) dfewet # g wifaa g
(3) T <ifad HReT gdqret e

(4) T wfed G

84. Who is the Legal Advisor to the government of a State in India ?

(1) The Solicitor General (2) The State Chief Legal Officer

(3) The High Court (4) The Advocate General

Wﬁﬁ?&ﬁm%wwaﬂﬁmaﬁ?éﬁ%?
(1) |ifarHex ST (2)ﬂwg@zﬁrﬁaﬁ€ﬁﬁra
(3) S=9 FERE (4) FBEgadl

85. Which of the following is the oldest High Court of India ?
(2) High Court of Calcutta

(1) High Court of Madras
(4) High Court of Allahabad

(3) High Court of Delhi

ﬁmﬁﬁﬁﬁﬁaﬁﬂwmaﬁwﬁmmmq%?
(2) HeTehl Hl == A

(4) gATBIEE bl I=d ATHITH

86. Which of the following is entrusted with a duty of laying down the standards 0

Professional conduct and etiquette 7

(1) Supreme Court of India (2) Bar Association of india

(4) Delhi Bar Council

(3) Bar Council of India
e SERET O RreraR & ween @ i

(1) ARA & qared e (2) S THIEUeE affp sfoedr
(4) Rl I wefas
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C .
g7. 'A'sells his car to 'B' his childhood friend with the knowledge that the car is defective.

Before buying the car 'B' says to 'A' that "if you do not deny it I shall assume that the
car 1s perfect." 'A'says nothing. In the light of statement decide the liability of ‘A"

(1) "A’s silence is equivalent to speech and hence a misrepresentation.
(2) 'A"is not liable for fraud but liable for misrepresentation.
(3) 'A'is liable for fraud and misrepresentation both.

(4) 'A's silence is equivalent to speech and hence a fraud.

'A' STYHT FR YN g999 P ared 'B' @ 39 59 B 91T d=dr 2 [ & @
81 R @I ¥ qea B, 'A' ¥ Fear & & 9y oy 3@d AN e Hd B
A A W R AR uhew @E B A B AR FedT 81 U & oTeis
'A' BT AT T F

(1) 'A"@&I g1 9997 & g€ & AW 36T T TTad ga=l 2 |

(2) 'A' TrEYE B fow IOER FEF & Afte Weafaeger T & e S9eeET
2 |

(3) A" draadt X Freafreaer A # forg SwREE )
(4) 'A' T guit 9N B gER & oI} safen SrareSt B

88. lFundamental Rights are given in :
(1) Part-I of Constitution
(2) Part-III of the Constitution
(3) Part-IV of the Constitution
(4) None of the above
Hifereh AR fFad Qo 1@ € 7
(1) Gfga™ & 9rT-14
(2) dfga™ & A9rT-11 |
S (3) dfga= & ArT-IV H
(4) IU<H H 9 HIg el

1 1]

BLBHJ-EE-2022/(SET-X)/(C) 1 P.T. O.
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89.

90.

'A' and 'B' Husband and Wife both are the employees of the same institution. 'A' female

‘A" for sexual harassment 2
B'. After the proceedings are

employee files complaint against t work place before anf

internal complaints committee which is headed by
complete 'B' held 'A' guilty recommended disciplinary action against ‘Al'A Can.i

challenge the proceedings on what grounds 7

(1) 'B'is employee of the same nstitution and the inquiry should have been conducteq!

by person outside the institution. ‘

(2) The complaint was filed by female employee so the Inquery should be done by

male employee.

(3) 'B' holds a personal bias against 'A' so the inquiry should not have been conducteq;

by her.

(4) 'A' being the accused should have conducted the inquiry himself.
'A'W'B'ﬁaﬁﬁaﬁ@ﬁmw%mﬁ%uﬁmmw

WWW%WWW%W%W'A'%@
fRTRTEd &7 ! &, ﬁaaﬁaww*B‘aﬁawwﬁa?ﬁ%lﬂﬁa@gﬁaﬁ

2 g B' X 'A' @ QA e X A 3 Raars FJLMEAED FRATS 3

mﬁﬁTaﬁ'A'mﬁﬁﬁﬁﬂaﬂmwﬁ?ﬁ%ﬂzﬁﬂ%?
(1)'B'eﬁawwmﬁ%aﬂimewﬁw%aﬁﬁmﬁm

(4)'A'aﬁaméﬁ%wmﬁﬁamm%qaﬁ|

‘A" delivers Pizza at 'B's house by mistake. 'B' consumed without asking anything. Now:

(1) 'B'is bound to pay 'A' for P1zza.

(2) 'B'1s only made liable if an express contract is established between 'A’ and 'B'.

(3) 'B'1s not bound to pay 'A' for Pizza.

(4) It is the discretion of '‘B' to make payment to 'A’.
BLBHJ-EE-2022/(SET -X)/(C)
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AT | B'® wY oot fefgw & dar B0 B'Y R 55 @® @ Ran) o
(1) B' 19SS & {0 A b1 sprerr et @ frg e B
(2) g%%gﬁdﬂﬁﬁwaﬁéw%mwaﬂv&aﬁaqm TR STy T
|
(3) B'IUSST & fore 'A' 1 sy s @ fforg amed =€t 2
(4) 'A'®| P HET B RS T

91. 'A" mvited 'B' to his house. 'B' after sitting in the Drawing Room moved to the
Bedroom where 'A' was preparing coffee for him. 'A’ sued be for trespass :

(1) "B has interfered with privacy of 'A".
(2) 'B' has committed no offence as he entered in the house with 'A's consent.

(3) 'B' has offended 'A' moving to the bedroom.

(4) 'B' has committed trespass as there was no consent of 'A' entry in the bedroom.

'A' 9 'B' I U oY AHEET fBar) B 2ET @9 F 94 & 9% 39 dS@q H
AT T SRl A I [T FiHl g9 @1 ar) AfoE & o geeAr R S
Thal B

(1) 'B'SY 'A' &l Mu-igar & s&aq faar 8 |

(2) 'B' 9 I3 79UY Fei har & Hife S99 'A' @ Fedfad | g7 ¥ yasT A
o | |

(3) 'B'H 'A'eRl S@H H A ¥ AT HY ’ar B
(4) 'B'S A fhar & aifh 989 § A S HaAST &I I Gedfa A ol |

92. Who drafted the Indian Constitution ?

(1) Drafting Committee (2) Constituent Assembly
(3) Indian Kings (4) Constitution Committee
gy dfaeg= &1 7qrer baa aar e or ?

(1) "4rer i (2) dEfag™ |

(3) ARG ST (4) diagaE |

93. 'A'shot 'B'in front of 'C' and pleads 'C' to take 'B' to the hospital. 'C' refused and said I
want that 'B' should die and you are punished for 'B's death. What offence did 'C' do ?

(1) Murder (2) Negligence (3) None (4) Attempt to murder

BLBHJ-EE-2022/(SET-X)/(C) P. T.O.
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94.

95.

C

B g ST @ o @ IO
T%\‘i%ﬁ'B'nTaTQai‘R

'A'ﬁ‘B'a%'C'%wqﬁﬁ%ﬁmﬁaﬁT'C'@r
ﬁﬂ?ﬁaﬁl'C'%waﬂfaﬂTeﬁTasaﬁﬁﬁaﬁ?
ama?r'B'a?rﬁ}crcﬁﬂﬁTé’rmu'C'ﬁwamam? _
(1) & (2) STl (3) B T& - (4) T H AN

B' expresses his desire to buy the

'A' made a proposal to 'B' to sell a chair of Rs. 500/-.
said chair for Rs. 400/-

(1) It is not clear whether 'A' made a proposal to 'B'.
(2) 'B' has accepted the proposal of 'A.

(3) 'B' has not accepted the proposal of 'A’.

(4) It is not clear that whether 'B' has accepted the proposal of 'A’ or not.

'A'ef'B'aﬁqzﬁajeﬁsow-mﬁﬁaaﬁaﬂmaﬁmwwﬁwa‘&ﬁﬁ
400/- T T @O HI FTBT A Hl |
(l)ﬁmﬂﬁ%ﬁﬁ'A'ﬁ‘B'aﬁwﬁm%mq‘éﬂ
(2)'B'%'A'%ma®&ﬂmwm%l

(3)'B'ﬁ'A'%W$‘TEﬁEﬁRT§Tm%I
(4)ﬂgwﬁ%ﬁs'3'%'A'%waﬁgﬁwﬁw%maéﬂ

During the marriage ceremony of 'A' and 'B', 'C' circulated a pamphlet saying that 'D' |

sister of 'B', the bride 1s a thief, she has stolen the shoes in a mall.

(1) 'C' has defamed the bridegroom.

(2) 'C' has defamed the bride.

(3) 'C' has defamed 'D".

(4) 'C' has not defamed 'D' and he never intended it.
'A'W'B'%Wwﬁ%%zﬁw, C 3w Ypae waia R BraH #e

ot o 5 B FET D, T AT B, SET T AW A o T ¢
(1) 'C'F g @ e e

(2) 'C'%gﬁ#aﬁrwm%l

(3) 'C'ﬁ'D'aﬁraaqmm%n
(4)'c'ﬁ'D'ﬁwﬁm%@Twﬁmﬁmmﬁm%,

BLBHJ-EE-2022/(SET-X)/(C)
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g6. 'A’' confined her daughter 'B' in a room. 'A’ also did not provide any food to her
daughter 'B'. 'B' died of starvation :
(I) "A’ committed the offence of confining 'B'.
(2) 'A' committed the offence of causing death of 'B'.
(3) "A' committed no offence.
(4) 'A' committed the offence of not providing food to 'B.
'A' 7 YT AT 'B' Y Up HHL H dG B STl ‘A’ Y STael 9dT B! @I @l
AT ot €t fRar | ‘B @ | A" A
(1) 'A' 9 'B' &t HifHa a0 &1 79U [hAT |
(2) 'A' T B'#HI GG HRG H BT I AT € |
3) 'A' T FZ Uy & R |
(4) 'A' ¥ 'B' I AT Uy T8 HUH I SAIAT [HAT |

97. 'A'takes up a gun not knowing whether it is loaded or not, points it playfully at 'B' and
pulls the trigger. Consequently 'B' falls dead :

(1) 'B' death is not accidental, as there was want of proper care and caution on the part
of 'A. '

(2) 'B's death is accidental as 'A' was just pointing the gun playfully at 'B'.

(3).°B'S death is accidental as 'A’ had no intention to kill 'B'.

(4) 'B's death is accidental as 'A' did not have the knowledge that the gun is loaded.

A' @5 IO &, J€ T8 SHar % g8 Wi g8 8 A1 7E, 39 'B' 9¥ R I
2 ofx fovx diear 81 Adistas 'B' AT ST 8

(1) 'B' &1 Jog A= -6t 8, Hith 'A' & AR q Id @A SR =l
1 HHT T | ' |

(2) 'B' %1 Ald 3ThHS & s 'A'fq® 'B' X &g Hl SN IR HT ST AT |
(3) 'B'& Y m%aﬁhﬁs 'A'&®T 'B' I HRA HT Hig SAST Asl T |
(4) 'B' &I gog AHRTH & Hifs 'A'l T8 T 6 A1 % dgwm T g8 o

'98. Alibi means a plea by an accused person that he :
(1) was facing trial. ' (2) was present elsewhere.

(3) underwent preventive detention. (4) remained in judicial custody.
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s7chiat @1 o} & fpddl TN AfKT BT &l TIZ FTld foh 98

(1) HeeHd 1 FrEAT H Tl 4T | (2) ®el T Hia o7 |

(3) Frrames e fhar 14| (4) =iy feuad o @ |
99. Under the Constitution of India restriction on freedom of religion can not be placed on
the ground of :
(1) Public Order ~ (2) Social Justice
(3) Morality (4) Health
TRT B R # qeq o & w@dEar g3 e e S T 7el
ST 9l & 7
(1) qrEsife FaeeT (2) G
(3) Afcaar (4) @reed

100. Which one of the following is nof a directive principle of State Po_licy under Part-IV of
the Constitution of India ?

(1) Promotion of Adult Education

(2) Promotion of International Peace and Security
(3) Organization of Village Panchayats
(4) Provision of just and human conditions of work and maternity relief
Frefofad § @ @ YR & dRM & WFHIV & ded g i & e
frsia 787 & 7
(1) 9 farem @ agrar & r
(2) SfaRisTg snifar SR G I Ggrar &l
(3) I YgEdl B GTed
(4) FF F FEETT AR AEE Rfdl IR A9 Ted H AGEH
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1. The word 'Veda' means :

(1) God (2) Soul (3)=11ruth (4) Knowledge
‘AT’ = FT I B
(1) 399X (2) STrcAT (3) 94 (4) 3T

2. The first General Elections were held in India, in :
(1) 1948 A.D. (2) 1950 A.D. (3) 1952 A.D. (4) 1955 A.D.
IRT H 98 AW g9 8T 9
(1) 194830 F  (2) 195080 &  (3) 195280 &  (4) 195530 H

3. DSaka Era begins in the year .............. .
(1) 320 A.D. (2) 178 A.D. (3) 58 A.D. (4) 78 A.D.

(1) 320 20 H 2) 178 o H (3) 5850 ¥ (4) 78 o #H

4. The founder of 'Nath Panth' in Haryana was :
(1) Garib Das (2) Chaurangi Nath (3) Veer Bhan (4) Nishchal Das

BRI | ‘91 g’ & HLeh &

(1) 9 a9 (2) AT AT (3) IR 9 (4) Mega &y
5. The 'Doctrine of Lapse' was associated with :

(1) Education (2) Social Reforms

(3) Princely States (4) Political Reforms

‘] T s’ Trafead o

(1) farem | (2) grIiSTeh a4

(3) 2¢h REmEdar 4 (4) TS guRi |

6. The '"World Population Day' is celebrated on ........... :
(1) 11th July (2) 21st July (3) 11th June (4) 21st June

‘freg ST 9T’ AT STAT @ oeennnnn .. |

(1) 115geg @ (2) 21eg @ (3) 11 SEF & (4) 21 S @l
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7. " 'World'Day of Social Justice' is celebrated on .......5... 0%

(1) 17th February (2) 20th February

(3) 21st February (4) 28th February

Tag amEISTh =Y Raq’ A9™r ST 8 ooenennn |

(1) 17 ®&@q A (2) 20 ®IGL hl

(3) 21 HXEd H (4) 28 ®HIFL
8. The Thar Desert continues into Pakistan and called as ............. .

(1) Pak Desert (2) Sahara Desert

(3) Gobi Desert (4) Cholistan Desert

qR I, grfehe o faga B R ... |

(1) 9tk IFRAE Fed & (2) HerT WA Fad &

(3) T IR FHed B (4) e I FHed @
9. Which river of India is called "Vridha Ganga' ?

(1) Krishna (2) Godavari (3) Kaveri (4) Narmada

A &l b A4 &I ‘G T FHBT SIr & 7

(1) @ (2) MEmEd (3) @l (4) =T
10. The working principle of washing machine 1s :

(1) reverse osmosis ~ (2) diffusion

(3) centrifugation (4) dialysis

aIfsiT 79 &1 H Fsid @

(1) [Eaqad 9T (2) JaoT

(3) STIHEIHTOT (4) sHEf«Ed
11. The speed of light will be minimum while passing through :

(1) Water (2) Vacuum (3) Ailr (4) Glass

qepTeT & AT =gaE BIdl & S| g oIl €

(I)Gl?rréf@{ QgFFEHFA (G agHA 4) ®g § Q
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12. Which 1s best sound absorbing material in partition walls ?

(1) Stone chips (2) Steel
(3) Glass-wool (4) Glass pieces
ARl & e d afy srgeiues 9l ShiE-dr g 7
(1) = o (2) sErd
(3) HrE H (4) B & THS
13. The first effective vaccine against Polio was prepared by :
(1) Robert Edwards (2) James Simpson
(3) H. Gibbon (4) Jonas E. Salk
qiferal & Racr® sy gardt Siepr fhaeh T aF fhar /& o1 7
(1) e gy (2) S fH=ga-
(3) Tgo & (4) SIFTE 30 Hch
14. Air Conditioner was discovered by :
(1) Edison (2) Wilson (3) Carrier (4) Roentgen
TgY HSIER Hl @ISl fhgeh aRT &l T3 &1 7
(1) TSrEq 2) faea+ (3) BRI (4) ==
15. The Pavo Cristatus 1s the zoological name of :
(1) Swan (2) Lion (3):1Reacocki=d- (4) Cow
gral fFeced Sig-asie M 8
(1) 89 = (2) SR @1 (3) HIX I (4) T A

16. When did the National Informatics Centre (NIC) was established ?

T GEAT Qs e (THSTEHT) @ O w9 H g off 7
(1):19/2 (2) 1976 (3) 1978 (4) 1980

17. Which of the following is not a part of India's National Debt ?

(1) Provident Fund (2) Life Insurance Policies

(3) National Saving Certificates (4) Long Term Govt. Bonds

BLBHJ-EE-2022/(SET-X)/(D)
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Bt § Q B 9IRGB TS RO B BEd 78T 8 7
(1) sfasy =g (2) Sha= &1 diferd
(3) TS 9 9= (4) SRR AR qed

18. The largest soil group of India 1s :
(1) Red Soil (2) Black Soil (3) Sandy Soil (4) Mountain Soil

AR & GG F8T Ja&T 98 ©
(1) @ et (2) @l el (3) X gt (4) et e

19. Environment Protection Act was enacted in the year ............ . |

(1) 1986 (2) 1989 (3) 1992 (4) 1972
qatgRer Geyer oifafaaw ofufaftd fpar mar or a9 ....oennn. |
(1) 1986 # (2) 1989 H (3) 1992 (4) 1972 |

20. How many Wimbledon titles won by Novak Djokovic ?

FTE STpieE 3 fraq fraced ergeed Sild € 7
(1):8 (2) S (3):7 (4) 6

Instruction : Read the following passage carefully and answer the question Nos. 21 t0 25 :

The Golden Temple stands in the City of Amritsar. It 1s most sacred to the Sikhs. It stands 1n
the heart of the city. In fact, the city grew up around the temple.

The temple stands in the centre of a big tank which is always full to the brim with clear water.
The tank was excavated by Guru Ram Dasji in the year 1589. On all the four sides of the tank
runs a broad path paved with beautiful marble tiles. A marble causeway leads to the temple
proper. The walls of the temple are also made of marble. There are beautiful floral decorations
on the walls. These are inlaid with precious stones. The temple has a gilded dome. It has four
doors instead of one. The temple is open to all castes and creeds. The reflection of the temple

in the clear water of the tank is a sight to see.

21. Guru Ram Dasji excavated the tank ...........

(1) which leads to the temple of Amritsar.

(2) which lies near the Golden Temple.
(3) at the centre of which stands the Golden Temple.

(4) which contains little water.
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22. What does the passage describe ?

(1) The tank around the Sikh Temple. (2) The religion of the Sikhs.

(3) The walls of the Golden Temple.  (4) The famous Golden Temple of the Sikhs.

23. 'Lnc tenmplc IS open1o-.....ivisi :

(I) everyone (2) only the Sikh men.

(3) only the Sikhs and Hindus. (4) only the Hindus.

24. 'The tank was excavated by Guru Ram Dasji. Here 'excavated' means ..........
(1) 1naugurated (2) made up
(3) first used (4) dug up

25. The broad path round the tank ..........

(1) 1s made of marble. (2) is paved with marble tiles.

(3) 1s inlaid with precious stones. (4) consists of floral designs.

26.  ~“Unegquivocal.means ... ... ....
(1) having only one vocal cord.
(2) having two neatly balanced meanings.
(3) having only one possible meaning.

(4) having only moral applications

27. Which of the following is opposite of 'confident’ ?
(1) Assertive (2) Upbeat (3) Diffident (4) Sanguine

28. Which of the following is nearest in meaning to 'amazement’ ?

(1) Composure (2) Stupefaction  (3) Indifference  (4) Disdain

29. Which of the following is incorrectly spelt ? _
(1) Misspelt (2) Wierd (3) Narcissistic (4) Accessory

30. Which of the following is correctly spelt ?
(1) Brocolli (2) Vaccum (3) Ocassion (4) Entrepreneur
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31. Which of the fallowing sentences 1s grammatically correct !

(1) This book gives much valuable information.
(2) Applauses were heard from the hall.
(3) We are dealing in potteries, crockeries and cutleries.

(4) We have purchased new machineries for the factory.

32. Which of the following sentences 1s grammatically correct !

(1) Many a passengers has lost his luggage.
(2) He is foremost lawyer in the city.
(3) Raman is taller than any student in the class.
(4) Temples are seen on either side of the river.
33. Which of the following sentences is grammatically incorrect /i

(1) As soon as the train arrived than the passengers rushed into it.

(2) It was nice of you to come and see me when I was 1ll.

(3) They told me they were sorry on the situation, but there was nothing they could do.
(4) They were delighted with the present I gave them.

34. Which of the following sentences is grammatically correct ?

(1) The traffic police said me I couldn't park my two-wheeler there.
(2) He said that he was sure that justice would be done.

(3) They wanted to know what was my name fi

(4) He told me to come back tomorrow.

35. If she had studied Mandarin, she ........... to China.
(1) will be able to go (2) would go
(3) can go (4) would have gone
36. If wishes ........ horses, beggars would ride.
(1) were (2) are (3) may be (4) can be
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37. -She “had ‘sprained her ankle. .......... she managed to participate in the dance
competition.
(1) Along with that (2) In addition to that
(3) In spite of that (4) Also

38. 1'will call’'you A7, =i,
(1) Whenever I have the results (2) Wherever I have the results
(3) If' I had the results (4) If I had got the results

39. The idiom, "To pay through the nose" means :

(1) To pay an amount exact and correct to a pie

(2) To pay more than the fair price
(3) To pay back the loan
(4) To pay in kind

40. The 1diom, "On the rocks" means :

(1) In trouble (2) To do things in the wrong order
(3) To settle down 1n a rocky area (4) To be defeated

41. USJ HF-91 = 8 7
(1) dgHag (2) TcaH (3) 39 (4) fa<=h

42. T, U 3, T HH-9 @I 8 7
(1) g9 @Y 2) g @Y (3) GgeRI @Y (4) 399 §q D3 ABI

43. fe<r «mur fopg fafa & fod st 8 7

(1) AR (2) =m&n (3) TEHE! (4) SGETTU
a4 = ol i s1gfe g a= ° € 7

(1) AR (2) ¥ (3) 1% (4) STEA
45. =IH A HIA-AT IYE Tel © 7

(1) s1emd (2) SARTHT (3) S (4) Isae
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46. ‘Y [T 8’ — A h-ar par g 7

(1) GhHp fohar (2) 3ThHS fepan

(3) (1) 37T (2) et (4) 395 9 iz A8l
47. STEl AR @1 e & S¥ & Fed § 7

(1) | - (2) g (3) I (4) 9%
48. ‘B HAAT HeEX HT 7t B :

(1) Igd d1 e (2) S&d ddeh BT

(3) G-l # geHy (4) 98d SAEL HAT
49. ‘TY HT Y Yl BT 9T BT o7 B

(1) @&t =g (2) FHIego! AT

(3) (1) 3 (2) (=T (4) 35 4§ FIg TSl
50. ‘STAT &1 fudiards = T :

(1) STA1ER (2) AT (3) GTHTHT (4) ua
51. =<l & ufa<s HeHIHR T :

(1) s g9 f&acr (2) IHI<

(3) SEH! (4) g™

52. ‘f&=&1 fR@q’ &g "™ AWT & 7

(1) 11 S8 &1 (2) l4fagdae st (3) 28 faceR &l (4) 12 S &l
53. ‘Geg’ ¥ H-Ar 9T 8 7

(1) =Hs19 4ie (2) @X 49y

(3) faaT iy (4) 399 4 B3 T
54. ‘Frasr’ &1 dfy-fa=e 8

(1) B +aemem (2) AT +emam (3) M +owem (4) T+ aqrem

55. =74 O b9 U= A ‘§H UAd TE 8 7

(1) 2feen (2) QmHISTE (3) «9ifH® (4) uferp
56. ‘crEeT H HiH-a1 A9 8 7
(1) agoH (2) &= (3) T&7] (4) sEgdfe
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of.

28.

09.

60.

61.

Fiq 1 SEfeq &k

(1) g (2) =pig=i (3) =hHaf=
AN BT ey = B

(1) STEHN (2) STTHIST (3) ar4Y
ST # T 4Rl ST #Y Ped ©

(1) STe=a (2) S/Ea™EA (3) F=a

‘TET 9 @ sga e wWg dwe

(1) 93X 91
(3) ™i¥a g

(1) Criminal Procedure Code

(3) Negotiable Instrument Act

(2) Ggad arad

(4) @HrETE=]

(4) A

(4) hTETH

ar Jef e’ s=-ar arem g 7

(4) 399 9 I Hal

Public Holidays are declared under ............ :

(2) Civil Procedure Code
(4) Constitution of India

IS STTHIA ........... & T IS feRar ST 2

(1) sTaigess ufskar diedr RS ESRIERIESIES]

(3) I o et as (4) AT FHT Fiaea=
62. Which of these systems is followed in India ?

(1) Adversarial System (2) Judicial System

(3) Inquisitorial System (4) None of the above

Ig # 399 9 9 goel &1 9raq Ay ST g 7

(1) "fcigpeT FoTdl (2) =A1&H FOTAl

(3) fSrsirg gomedt (4) ITUFT 5 q HIs el
63. What is /is pendens ?

(1) A pending suit (2) A pending list of suspects

(3) A pending show cause notice (4) A pending summon

fora g &1 & 7

(1) "ep cifad gehaHT (2) dieal &1 U fad g

(3) Uep wiferd aprReT Faredl difed (4) T cifad 994
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64. Who is the Legal Advisor to the government of a State 1n India 7

(1) The Solicitor General (2) The State Chief Legal Officer
(3) The High Court (4) The Advocalte General
Wﬁﬁﬂﬁw%mml{aﬁrﬁfﬁﬂﬁmmuﬁ?@m% {
(1) AT S (2) o9 FE&F L SRR
(3) S= g (4) HeTTerererT

65. Which of the following is the oldest High Court of India ?
(1) High Court of Madras (2) High Court of Calcutta
(3) High Court of Delhi (4) High Court of Allahabad
W@ﬁﬁﬁﬁﬁwmmwﬁw%?
(1) 919 &1 I= A (2) THelehal 1 I=d I
(3) el &l = A" (4) SATEETE I Iead AETH

66. Which of the following is entrusted with a duty of laying down the standards of
Professional conduct and etiquette ?

(1) Supreme Court of India (2) Bar Association of india
(3) Bar Council of India (4) Delhi Bar Council

Proafefag § @ 5y SAEaide Rl R ™R & AFal 6 Hgiid
FHTH FH Facd QAT T B 7

(1) 9Xd &1 Fdl=a g (2) I THITHTEE 3% 3fosar
(3) X FHrefEd HATE ZOSAT (4) Rl IR Fwrefaa
67. 'A’ sells his car to 'B' his childhood friend with the knowledge that the car is defective.

Before buying the car 'B' says to 'A' that "if you do not deny it I shall assume that the
car is perfect." 'A'says nothing. In the light of statement decide the liability of 'A'.

(1) 'A's silence 1s equivalent to speech and hence a misrepresentation.
(2) 'A'is not liable for fraud but liable for misrepresentation.
(3) 'A'is liable for fraud and misrepresentation both.

(4) 'A's silence is equivalent to speech and hence a fraud.

BLBHJ-EE-2022/(SET-X)/(D)
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A" YA FR AYA 999 B & 'B' H 39 9 b GG JTdl & b B T
g1 B @AY T gsa B, 'A' ¥ Fedl © & ‘g 39 3@ 6L "6l HLd 8
AN H J1 I B B uhen @dl B OA g E edr B HUT & Ah H
'A' BT ST G F

(1) 'A'&!I godt 91 & gyex & 3N} 34afee Uk Tad Il 2 |

(2) 'A' SrETTEl $ T IgRErEt T8 & afed Weafaeger gar & fog Sear
2 |

(3) 'A' grEEEY IR freafeger T & o SAErE ®
(4) 'A' T A YT H FUEX 8 A JAY GrEarES! 2 |

68. lundamental Rights are given in :

(1) Part-I of Constitution (2) Part-III of the Constitution
(3) Part-1V of the Constitution (4) None of the above

Hifereh e fhad g @ 8 ?

(1) dfqa= & 9rT-19 (2) dfqa= & «Ar-I1 |

(3) dfqa= & AF-IV (4) IYAH H F HIz el

69. 'A'and 'B' Husband and Wife both are the employees of the same institution. 'A’ female
employee files complaint against 'A' for sexual harassment at work place before an
internal complaints committee which is headed by 'B'. After the proceedings are
complete 'B' held 'A' guilty recommended disciplinary action against 'A’. 'A' can

challenge the proceedings on what grounds ?

(1) 'B'is employee of the same institution and the inquiry should have been conducted

by person outside the institution.

(2) The complaint was filed by female employee so the inquery should be done by

male employee.

(3) 'B' holds a personal bias against ‘A’ so the inquiry should not have been conducted

by her.

(4) 'A' being the accused should have conducted the inquiry himself.
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—_—t o 3 el B T AR FHEA o |
A' 3R 'B' Ry o uelt QT um & @e i

| =t qv A 3dl
Ak Repaa alfa & gHer e e T B

R oSt et ¥, Rrad otererar ‘B! o STeHERT H
%W'B'%'A'a%ﬁmaﬁwﬁwaﬁﬁwmﬁ

mﬁaTaﬁ'A'mldqlﬁaﬁﬁaaﬂWWg-ﬂnﬁ?iW%?

(1) 'B' SE G&9 HI HHAT & AR A o & el & AT
ey o |

(2) R HReeT HErd & o @ T o gaR Sirg ge HHE 2 )
ST =18y | \

3) B, 'A' & Raa afRea y@iue w@ar €, 3l IO T S A8 &)
ST =feq o |

(4) 'A'F FRG BW B BROT @G Sirg BT Aried Al

70. 'A’delivers Pizza at 'B's house by mistake. 'B’ consumed without asking anything. Now :

- G bl )

r

(1) B'1s bound to pay 'A' for Pizza.

(2) 'B'is only made liable if an express contract is established between 'A’ and 'B'.

(3) 'B'is not bound to pay 'A' for Pizza.

(4) It is the discretion of 'B' to make payment to 'A’.

AT § 'B'é °X oo feeliay #x a1 B B'H AT p 9B @ | &9

(1) 'B' fussm & f&Q 'A' &l P & & fIQ arex 2 !

(2) 'B' dae a1 STEHT BT 8 S A 8T 'B' @ U TN gAY T
Il 2 |

(3) 'B' fasen & fo@ 'A' &1 A B & g e T8} 2

(4) 'A' I G FHT B 61 [qdmigm 2 )

71. 'A' invited 'B' to his house. 'B' after sitting in the Drawing Room moved to the
Bedroom where 'A' was preparing coffee for him. 'A" sued be for trespass

(1) 'B' has interfered with privacy of 'A’.
(2) 'B' has committed no offence as he entered in the house with 'A's consent.
(3) 'B' has offended 'A' moving to the bedroom.

(4) 'B' has committed trespass as there was no consent of 'A' entry in the bedroom.
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'A'' 7B Eﬁrﬁam%r HY TG fhar) B' 3ET ©H H ded & 9% 39 ds&q H

acll T STET A" IS [T i a9 wer an) sifte & fom geeenr fhar S
THaT 8 :

(1) 'B'S 'A' &t Muigar # seqa fear 2

(2) 'B' 7 F ey TS fpar ® 4ifE Sww A’ # wedfd & =7 § yaw A
AT |

3) B'R 'A'®H Y@ § 5 F AT H7 =&ar B
(4) B'H A fomar ® a9ifs Y= & A S 9997 & HIs gedifa Aef & |

72. Who drafted the Indian Constitution ?

(I) Drafting Committee (2) Constituent Assembly

(3) Indian Kings (4) Constitution Committee

ARG Giqar= 1 qqrer g g fomar ar ? |
(1) #qrer |afifa (2) Gfgam qHr |
(3) ARG =T (4) dfaar afafd

73. 'A'shot 'B'in front of 'C' and pleads 'C' to take 'B' to the hospital. 'C' refused and said I
want that 'B' should die and you are punished for '‘B's death. What offence did 'C' do ?

(1) Murder (2) Negligence
(3) None (4) Attempt to murder

'A' 9 B' B 'C' B A Ml AR & IR 'C' § 'B' & A o IS4 & f[Gg
et &1 'C' ¥ 791 Y Gar AR wer 6 A =rear g [ B! WY @ 3
3T9eRT 'B' &1 HIG &l Goir &1 S| 'C' 3 &= A9y fohar 7

(1) &cAn (2) STYETE

(3) @i A&l (4) BT HT 94T

-

74. 'A' made a proposal to 'B' to sell a chair of Rs. 500/-. 'B' expresses his desire to buy the
said chair for Rs. 400/-

(1) It is not clear whether 'A' made a proposal to 'B'.

(2) 'B' has accepted the proposal of 'A'.

(3) 'B' has not accepted the proposal of 'A.

(4) It is not clear that whether ‘B’ has accepted the proposal of 'A' or not.

BLBHJ-EE-2022/(SET-X)/(D) P. T..Q.
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A' X B B T FHEl 500/- 5UF F FuA Hr gwE f@ar B A I FE H
400/- 89 H @A PHi =BT T B |
(1) o8 e 981 8 &5 'A' ¥ 'B' &t yeag f&ar & a1 ol |
(2) 'B' 4'A' & 9¥dE @ EhX HY forar B |
(3) B' 9 'A' & UG S WepR T8t fhar 2
(4)%Wﬂﬁ%ﬁﬁ'Bﬁ'A‘%Hmmﬂﬁﬁ%ﬂm%mﬂﬁl

75. During the marriage ceremony of 'A' and 'B', 'C' circulated a pamphlet saying that )
sister of 'B', the bride is a thief, she has stolen the shoes 1n a mall.

(1) 'C'has defamed the bridegroom.

(2) 'C' has defamed the bride.

(3) 'C'has defamed 'D".

(4) 'C' has not defamed 'D' and he never intended it.

A' X B' & fare TRE & AR, 'C' A wh ke yEid A SEE Fa
47 o % 'B' @ @eq D, geed 9% €, 389 T A F g9 A 2|

(1) 'C'H gTe hl Fe=H e 2
(2) 'C'H Twed &I JgeA™ fFar B |
- (3) 'C'H 'D' &I geqH fHhar B
(4) 'C'S 'D' T geA™ ol fhar & 3N I H 39HT AT A8l AT 2

76. 'A' confined her daughter 'B' in a room. 'A' also did not provide any food to her
daughter 'B'. 'B' died of starvation :
(1) 'A' committed the offence of confining 'B'.
(2) 'A' committed the offence of causing death of 'B'.
(3) 'A' committed no offence.
(4) 'A' committed the offence of not providing food to 'B'.
A' F IO 9T 'B' @ TH HAT H oS X QAT 'A' ¥ orglt 1 B! @Y @8
Qo ot 2t fear 'B' @ @ "I T _
(1) 'A' 9 'B' @l 9ifHd &I BN STIU [HAT |
(2) 'A' 9 'B'&# GG HIA HIA BT ST fbar 8
(3) 'A' T &3 YUY el [HAT |
(4) 'A' T 'B'ah! Ao IUE el HAA BT HAIOY oy |
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'A' takes up a gun not knowing whether it is loaded or not, points it playfully at 'B’ and
pulls the trigger. Consequently 'B' falls dead :

(1) "B' death is not accidental, as there was want of proper care and caution on the part
of 'A.

(2) 'B's death is accidental as 'A' was just pointing the gun playfully at 'B'.

(3) 'B's death is accidental as 'A' had no intention to kill 'B".

(4) 'B's death is accidental as 'A’ did not have the knowledge that the gun is loaded.

'A' dg% IoIaT B, I8 W& Sar 6 g8 9 g2 ¥ A Agl, 39 'B' 9¥ SR &l
g R for digar 81 adfisas ‘B! A4X STar 8

(1) 'B' & gg e 2t 8, =it 'A' @1 ol & Sfaa I@we SR Jaer]
I HHT o |

(2) 'B'=l A ThRAS B ifer A faw B9 dgsh Hl ST AT HT TET AT |
(3) B'a®l Jog ShiHH & aiifeh 'A' T 'B' I HILA @1 hlg FUET el o |
(4) 'B'H TG STHERHF & i 'A'@ ge 79 e o1 6 dgw 9 g8 T

Alibi means a plea by an accused person that he :

(1) was facing trial. (2) was present elsewhere.

(3) underwent preventive detention. (4) remained in judicial custody.
37ciat Fr o1t B Rl oIt aafe ERT @l T3 gald [k 98

(1) gehed =1 GFET T T a1l (2) &l ST ARIE o

(3) Fars =g f&ar @ (4) =q1aes feuad H @

Under the Constitution of India restriction on freedom of religion can nof be placed on
the ground of :

(1) Public Order (2) Social Justice

(3) Morality (4) Health

aRa & dfga & ded g9 & Easdr 9 gfiaed fhee STER X 787 A

ST bl & 7 _
(1) argsif-ieh HaET (2) QIS =

(3) AfcreneT (4) e

Piel Q.
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3 | | der Part-
80. Which one of the following is nof a directive principle of State Policy under Part-IV o

the Constitution of India ?
(1) Promotion of Adult Education
(2) Promotion of International Peace and Security

(3) Organization of Village Panchayats

43 i lief
(4) Provision of just and human conditions of work and maternity reiic
v & aed Tod A A R

Rysiaq 7872 7
(1) e Rrer & Sear T

81. The Fractions 7/11, 16/20 and 21/22 when arranged 1n descending order are :

(1) 7/11, 16/20, 21/22 (2) 21/22,7/11, 16/20
(3) 21/22, 16/20, 7/11 (4) 7/11, 21/22, 16/20

82. Intheseries 2,5, 11, ...... _47. Fill up the gap with the appropriate number.

(1) 12 (2) 10 (3) 23 (4) 24

83. Fill up the blanks with appropriate number :
P T 1 Ofd SRR we IR

5, .. [oitenl3gued L) ¢ 4120
7is ) U] e 56 ) o 336
> " [ 00
(1) 841 (2) 720 (3) 752 (4) 728
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84. 12:20::30:? - Choose the correct alternative for the place of question mark (?) :

12:20::30:?2-9s9 fgs ()& wH & g Sfad [Fehed Hr 49+ hi
(1) 40 (2) 42 (3) 50 (4) 44

85. F:37:1:?- Choose the correct alternative for the place of question mark (7) :
F:37:1:?-999 fags ()3 &&= & forQ SfEa faeed &1 =49 H1
(1) :52 (2) 27 (3) 75 (4) 82

86. 3:243::5:? — Choose the correct alternative for the place of question mark (?) :
3:243 :5:?7 —usq fHgH (?)%W%%QG%HWEHWEE%:
(1) 575 (2) 425 (3) 3125 (4) 355

87. If LODES is coded as 46321, how will you code the word DOES ?

afX LODES &Y 46321 & =9 & =ifteq far sam &, df d DOES /=& &1 &4
RIS P 7
(1) 1234 (2) 4321 - (3) 3621 (4) 4321

88. Ram facing is South. He turns right and walks 40 meters. Then he turns right again and
walks 20 meters. Then he turns left and walks 20 meters and then turns right to walk 40
meters. Then he turns right again and walks 120 meters. In which direction he is from

the starting point ?

(1) North-East (2) North-West
(3) North (4) West

T FH @ &R H AR T gE & el ® X 40 HieX IO g1 99 I8
REY & T gear & oKX 20 #HeX =riar 81 Y g8 9] gear & X 20 Hrex

ear & 3T T a8 gead 40 HieX gaar &1 99 98 R Q@ T 31 @ SR
120 HreT =orar 21 379 g8 RE g 4 g Rem # 2 7

(1) Ia-9d (2) IAT-9iveEH

(3) ITY (4) aiR=EH l

BLBHJ-EE-2022/(SET-X)/(D) P. T. O.
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89.

90.

91.

92.

93.

D

Rohan walks a distance of 3 km towards North, then turns 10 his left and walks fo

2 km. He again turns left and walks for 3 km. At this point, he turns to his left ang

walks for 3 km. How many kilometres is he from the starting
(1) 1km - (2) 2km (3) 3 km
iﬁ%ﬁw{aﬁeh3ﬁﬁnﬁaam%,fﬁ?{amﬁﬁ§$m%@?2ﬁ5ﬁwm%|
e R ¥ aif gear B olw 3 Rt wwer 1 g6 Rig O 98 S AR on
W%aﬁ3%ﬁdam%uwaﬁ$ﬁ§@ﬁﬁaﬁwg%?

(1) 1 fmft (2) 2 ey (3) 3 fae (4) 5 o

(4) 5 km

Which one among the following does not belong to the group K

(4) Credit Card

(1) Maestro (2) Visa (3) Master
Frfafad § | $9 99 § gdfad 787 © 7 .
(1) ATCEN (2) T (3) AR (4) Ffee HS

A, B, C, D and E are five rivers. A is shorter than B but longer than E. C is
the longest and D is a little shorter than B and a little longer than A. Which 1s the

shortest river ?
A B.C.D ST E dfg 925 T1A, BQ 81 & Afe7 EQ @dl 81 C 99 Tdr &
aﬂ?D,Bﬁ@@ﬁ@ﬁ%@?Aﬁ%ﬁ%lﬂﬂﬁ@ﬁﬁ%ﬁ%ﬁ%?

(1) B (2) C (3) D (4) E
Which word does not belong with the others ?

(1) index (2) glossary (3) chapter (4) book
HF-9T 9= gEd o Gatad 787 © 7

(1) ga&hih (2) STETEl (3) I (4) fpama

If F is the brother of A, C is the daughter of A, K is the sister of F and G is the brother |
of C, then who is the uncle of G ? |

(1) E (2) K (3)+C (4) None of the above

AR F A® S 5 CAB TN EKFHR A 2R G, Camr wg 8, A G
=rEr B § 7 ’

(1) F 2) K (3).C (4)3—,‘13@@@@%‘7 |
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94. A has three children R 1S the brother of C. and C is the sister of D, E who is the wife of

A and is the mother of D. There is only one daughter of the husband of E. What is the
relation between D and B 9

(1) B is the brother of D (2) B is not related to D
(3) D is asister of B (4) None of the above

A%‘Eﬁ:rﬁl?%réﬂB,Cw%%aﬂTC,Da%W%,EGﬁAEﬁW%WD
P AT BRIESD ofy 3 daor o 3 21 DB S i a1 daie & ?

(1) B,D&r oig 8 (2) B, DA Hafga &l 8
(3) D,Ba&# s&+ 8 (4) IUNFT H G hIg el

95. A person crosses a 1200 meter long street in 10 minutes. What is the speed in
kKilo metre per hour (km/h) ?

(1) 7.2 km/h (2) 8 km/h
(3) 9 km/h (4) None of the above

Th R 1200 HieX o=t g% & 10 e § qr &ar 21 fhander gfa der
g IGh A = 7

(1) 7.2 Reeidirex wfy st (2) 8 Fpeidiet ufy e
(3) 9 fperfiex ufy e (4) ITAFT F q HIE TS

96. A train whose length is 320 meters is running at a speed of 36 km/h. How much time

will 1t take to pass a pole ?
(1) 30 Second (2) 32 Second (3) 36 Second (4) -40 Second

Tp o9 ST dag 320 Hex 2 a8 36 Ot ufy 52 9% v ¥ A @ T
Th 9Idd Bl 91X A T fohaqr 999 &9 ?

(1) 30 9&Fvs (2) 32 A& (3) 36 G&HvS (4) 40 QHve

97. The Year next to 1991 will have the same Calendar as that of the Year 1991
a9 1991 % g€ e a9 & 1991 & GHH HAvST aF[T ?

(1) 1992 (2) 1995 (3) 1996 (4) 1997

98. If 22 April, 2013 was Monday, then what was the day of the week on 22nd April,
2012 ?
(1) Sunday (2) Saturday (3) Tuesday (4) Wednesday
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g
A 22 o, 2013 F QAT e, @ 22 offfe, 2012 F TS H BITAT [T
oqr ¢ |
(1) daarx PARUGEIES (3) HITEEY (4) gg4a1t '

99. How many numbers are there between 1 and 100 that are nof divisible by 3and 57

1 37X 100 B e Aeft Fpah deand E o 3 a5 | fawg 7@l e

(1) 47 (2) 43 (3) 53 (4) 58

100. In a group of 40 people, 25 speak English and 20 speak both Hindi and English. All the

people speak at least one of the two languages. How many people speak Hind1 ?
406ﬁ%ﬂﬁ6ﬁ,25@ﬁ6ﬁé‘fﬁé%ﬁ?20%ﬁ@ﬂ?@iﬁﬁaﬁaﬁﬁlFr%-‘i”
AT A el F A BT QB 0H 9 e ¥ aer Bl e @ 7

(1) 15 (2) 20 (3) 25 (4) 30
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